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~ 1 nu, 7ube+u4 / 25
- DO 4242+ 0.0
pl -36.64 + 0.00

TP delay [ns]

TVC(C, bch) (0,7,13

T /1be+u4 [ 25
= pO 4238+ 0.0
pl -36.45 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (0,7,2)

X~ 1w suse+U4 /25
- PO 4234+ 0.0
I pl -37.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,6

- 1L Yose+ud / 25
- pO 4224+ 0.0
I pl -35.27:+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 7 10

© 1 nug 308e+u4 / 25
- DO 4257+ 0.0
F pl -36.11 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,14

TinuiLo1se+ud /25
= PD 4238+ 0.0
F pl -35.71+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

AT 1 nuiL4yze+u4 [ 25
- po 4231% 0.0
pL -36.98+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

- B3ze+ud [ 25
- PO 4219+ 0.0
Pl 34,66+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

T zzse+u4/25
- pO 4259+ 0.0
pl -36.93 + 0.00

TP delay [ns]

TVC(C, bch) (07,15

T bzze+V4 [ 25
- pO 4250 0.0
pl -36.08 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,0)

A1

L.oe+ud /25
4215+ 0.0
-36.07 + 0.00

TP delay [ns]

TVC(cbch) (08,4

pO
pL

T rnuiL41ze+04 / 25
4217+ 0.0
-34.92 + 0.00

TP delay [ns]

TVC(cbch) (O 8,8

~1nuig.0use+u4 / 25
4238+ 0.0
-36.39+ 0.00

0

TP delay [ns]

TVC(cbch) (0,812

pO
p1

T Ly oe+u4 / 25
4255+ 0.0
-37.04+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,1)

- po

A~ 1L 4une+ud [ 25
4199+ 0.0
-34.91+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (0 8,5

-1 nui 4p1e+04 / 25

4211+ 0.0
-34.33+ 0.00

[ C=29.13 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b ch) (0 8,9

e, po

pl

T nui g31e+u4 / 25
4254+ 0.0
-35.87 + 0.00

TP delay [ns]

TVC(C, bch) (0,8,13

Tinuig1se+ud [ 25
4265+ 0.0
-37.02+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000

2000

1000

0

1000

TVC(cbch) (0,8,2)

= PO

K™ 1nui4r0e+04 /25
4212+ 0.0
pl -35.66 + 0.00

TP delay

TVC(cbch) (0,86

[ns]

- i bb3e+ud / 25
4234+ 0.0
pl -35.62 + 0.00

F= pO
[ C =28.08 [ps/ch
S(I) 10‘0
TP delay

TVC(cbch) (0, 8 10

pO
pl

[ns]

T g se+u4 /25
4281+ 0.0
-36.97 + 0.00

1
100

TP delay

TVC(cbch) (0,814

- pD

pl

[ns]

T i, ryoe+u4 | 25
4263+ 0.0
-37.4+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3)

o=, po

pl

AT rnuiLg1e+u4 /25
4231+ 0.0
-36.09 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

RIS

Fo=. pO
pl

120e+04 1 25
4239+ 0.0
-35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 8

= pO

AL s/ue+u4/25
4274+ 0.0
-36.71+ 0.00

pl

TP delay [ns]

TVC(C, bch) (0,815

T nai ssze+ud [ 25
4256+ 0.0
-36.42+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0

A7 1 nun sove+u4 / 25
., po 4183+ 0.0
pl -35.52 0.00

TP delay [ns]

TVC(cbch) (0,9,4

T rnuiL34/e+04 / 25
pO 4181% 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(cbch) (O 9,8

1z 3z9e+04 | 25
po 4216+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (0,9,12

T, ruse+u4 / 25
pO 4221+ 0.0
pl -35.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1

A1 3ase+U4 | 25
', po 4179+ 0.0
pL -34.88+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

=1 nui bobe+ud [ 25
pO 4198+ 0.0
pL -35.26+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,9

Tinue.b/ /e+ud [ 25
po 4211+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,13

Tinun 1 ose+ud /25
pO 4197+ 0.0
pl -34.39+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,2)

A7 1 nui4uoe+u4 / 25
- po 4199+ 0.0
[ p1 -36.18 + 0.00

TP delay [ns]

TVC(cbch) (0,9,6

T b4 /e+04 [ 25
- pO 4199+ 0.0
3 pl -35.64+ 0.00

TP delay [ns]

TVC(cbch) (0, 9 10

T nuizysie+ud | 25
= po 4248+ 0.0
- pl -35.89+ 0.00

TP delay [ns]

TVC(cbch) (0,9,14

© L suse+u4 / 25
- pD 4208+ 0.0
L pl -34.1+ 0.0

- C = 29.33 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3)

AT rnuiLgnre+ud [ 25
po 4201+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

~nui /41e+04 / 25
pO 4216+ 0.0
pL -36.61+ 0.00

TVC(c,b ch) (0, 9

50 1(;0
TP delay [ns]

T, 1/::e+u4/25
po 4246+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(C, bch) (0,9,15

T nui ozve+ud [ 25
po 4224+ 0.0
p1 -34.85+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

T 1yse+u4 [ 25
4208+ 0.0
-34.11 + 0.00

[ C =29.32 [ps/ch]

1
50 100

TP delay

TVC(Cbch) (o, 10 4

pO
pL

[ns]

T L4 e+u4 [ 25
4225+ 0.0
-36.49 + 0.00

50 10'0
TP delay

TVC(eb,oh)=(0, 10,8

- pD

[ns]

- 1 nuiL pgbe+ud / 25
4214+ 0.0
pl -35.17 + 0.00

TP delay

TVC(Cbch) (o, 10 12

E pO

[ns]

- i s57e+u4 [ 25
4259+ 0.0
p1 -36.56 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0, 10 1)

e, pO

p1

-1 nuiLz4gqe+u4 [ 25
4205+ 0.0
-34.27 + 0.00

[ C =29.18 [ps/ch]

1 1
50 100

TP delay

TVC(c,b Ch) (0, 10 5

F- pO

[ns]

- nuib3/e+u4 [ 25
4233+ 0.0
pl -37.22+ 0.00

TP delay

TVC(eb.oh)=(0, 10,9

=3 pO

[ns]

T nuigob/e+ud [ 25
4232+ 0.0
p1 -36.47 + 0.00

TP delay

TVC(c,b ch) (0, 10 13

- pO

[ns]

T nuiLv4ve+ud [ 25
4253+ 0.0
pl -35.98 + 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

1000

1000

0

1000

TVC(CbCh) (0,10,2)

po

A7 1w Laye+ud | 25
4214+ 0.0
p1 -34.63+ 0.00

TP delay

TVC(Cbch) (o, 10 6

[ns]

“ g b24e+U4 125
. pO 4235+ 0.0
L pl -36.65+ 0.00
FC=27.28 [ps/ch ]
1 L -
50 100
TP delay [ns]

TVC(cbch) (0, 10 10

= "

-1 nu 519e+04 [ 25
4253+ 0.0
pl -36.56 + 0.00

TP delay

TVC(CbCh) (o, 10 14

[ns]

1 i puYe+ud / 25
4261+ 0.0
pl -36.83+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

- po

pl

A~ 1 nuiLs1se+ud / 25
4229+ 0.0
-34.8+ 0.0

TP delay

TVC(c,b Ch) (0, 10 7

o, pO

[ns]

=11 ygbe+u4 / 25
4258+ 0.0
p1 -37.15+ 0.00

1
50 00

TP delay

TVC(Cbch) (0, 10 11

= pO

[ns]

Tinair4/e+04 /25
4249+ 0.0
pl -35.07 + 0.00

TP delay

TVC(cbch) (0, 10 15

JATeTY:

[ns]

- e+ud | 25
4256+ 0.0
pL -37.09+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,0)

AT 1nuis10e+04 /25
= po 4157+ 0.0
p1 -34.57 + 0.00

TP delay [ns]

TVC(cbch) (0,11,4

-1 i z49e+04 / 25
e pO 4164+ 0.0
p1 -34.01% 0.00

TP delay [ns]

TVC(cbch) (0, 11 8

©1nuizuzae+u4 | 25
= po 4187+ 0.0
pl -34.65+ 0.00

TP delay [ns]

TVC(cbch) (0,11, 12

X~ 1L osie+ud /25
- po 4212+ 0.0
p1 -35.6+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,11,1)

_ X1 vy rerud 25
e, po 4160 0.0
pL -35.12:+ 0.00

TP delay [ns]

TVC(cbch) (0,11,5

=1 nui 4n9e+04 / 25
4190+ 0.0
-34.8 % 0.0

50 1(;0
TP delay [ns]

TVC(eh.eh)=(0, 11, 9

Tinunp.1be+ud [ 25
= po 4209+ 0.0
p1 -34.64 + 0.00

TP delay [ns]

TVC(cbch) (0,11,13

T inaiazse+ud [ 25
== pO 4205+ 0.0
pl -35.43+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(CbCh) (o, 11 2)

T s4ze+04 [ 25
pee-, pO 4174+ 0.0
L pl -35.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,11,6

-1 nuiL439e+04 [ 25
4212+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(cbch) (0,11, 10

— X~ 11z b8be+04 [ 25
= po 4197+ 0.0
L p1 -34.24 % 0.00

- C =29.21 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,11, 14

1000

K™ 1 nuizole+u4 /25
= po 4217+ 0.0
L p1 -36+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

AT 1Lz rze+ud |25
poes, po 4183+ 0.0
p1 -34.95+ 0.00

TP delay [ns]

TVC(cbch) (0,11,7

- 1nui4/0e+04 / 25
- pO 4196+ 0.0
p1 -34.15+ 0.00

[ C =29.28 [ps/ch]

50 1(;0
TP delay [ns]

TVC(e.b.eh=(0, 11, 11

- T nuiLy43e+u4 [ 25
= pO 4214+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(c, bch) (0,11,15

Tinaizae+u4 /25
= pO 4211+ 0.0
p1 -34.76 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (o, 12 0)

© L 1use+u4 [ 25
.. pO 4208+ 0.0
p1 353+ 0.0

TP delay [ns]

TVC(cbch) (0,124

-1 nui349e+04 / 25
- pO 4216+ 0.0
pl -37.71% 0.00

50 100
TP delay [ns]

TVC(cbch) (0, 12 8

T rnuiLysze+u4 | 25
- pO 4204+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(cbch) (0,12,12

T rnuiLbz1e+04 /25
= po 4220+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,12,1)

AT nun L zbe+ud [ 25
- po 4216+ 0.0
p1 -37.57+ 0.00

TP delay [ns]

TVC(cbch) (0,125

-1 nuiL439e+04 / 25
e pO 4208+ 0.0
pL -37.16+ 0.00

TP delay [ns]

TVC(ebeh)=(0, 12,9

<1 nu.ysae+ud / 25
4224+ 0.0
-36.6 + 0.0

TP delay [ns]

TVC(cbch) (012,13

T nuiL vove+ud 25
- pO 4222+ 0.0
pl -36.08 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

2000

4000

2000

1000

TVC(CbCh) (o, 12 2)

TrnuiLzrze+04 [ 25
=, pO 4213+ 0.0
L pl -36.35+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

S /Q/e+u4 [ 25
e pO 4213+ 0.0
[ pl -36.88+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

Tzl (e+u4 [ 25
. po 4238+ 0.0
- pl -36.35+ 0.00

3000

1000

0

TP delay [ns]

TVC(cbch) (0.12,14

T Lore+ud /25
- pD 4229+ 0.0
L pl -35.7+ 0.0

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

AT 1L 4p0e+u4 [ 25
- po 4237+ 0.0
pl -36.83+ 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

-1 nui Bule+u4 / 25
- pO 4240+ 0.0
pL -37.15+ 0.00

50 100
TP delay [ns]

TVC(eh,eh)=(0, 12, 11

~ 1 nuiz sgze+u4 25
- pO 4249+ 0.0
pl -36.59 + 0.00

TP delay [ns]

TVC(cbch) (0,12,15

T nuin3se+ud [ 25
- po 4229+ 0.0
p1 -36.19+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 13 0)

T rnuizuyze+ud | 25
pO 4215+ 0.0
pl -35.89 0.00

TP delay [ns]

TVC(cbch) (0,134

T rnuzzize+V4 | 25
pO 4235+ 0.0
pl -36.96+ 0.00

FC -
| L -'
50 100
TP delay [ns]
TVC(ebch)=(0, 13, 8)
T nuig.a4e+04 [ 25
- pO 4261+ 0.0
pl -34.4+ 0.0

[ C =29.07 [ps/ch]

0

50

1
100

TP delay [ns]

TVC(cbch) (0,13, 12

[ C =29.06 [ps/ch]

T rnuzgsse+ud | 25
pO 4250+ 0.0
pl -34.42+ 0.00

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,13,1)

AT 1z soye+ud [ 25
po 4214+ 0.0
pl -36.83+ 0.00

TP delay [ns]

TVC(c, bch) (0,135

-1 nui 3o8e+u4 [ 25
pO 4237+ 0.0
pL -36.99+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 13

[ C =29.05 [ps/ch]

-1 nuw.ybe+ud / 25
po 4284+ 0.0
p1 -34.42 + 0.00

50

1
100

TP delay [ns]

TVC(cbch) (013,13

~ 1 nuiz.pbge+ud / 25
pO 4251% 0.0
pl -35.73+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (o, 13 2)

Trnuigzzr1e+04 /25
pO 4219+ 0.0
p1 -35.48 + 0.00

TP delay [ns]

TVC(cbch) (0.13,6

- Uz 334e+04 [ 25
pO 4259+ 0.0
pl -37.18+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (0, 13 10

- C = 28.83 [ps/ch]

T g p3/e+u4 [ 25
po 4303+ 0.0
p1 -34.69 % 0.00

0

50

1
100

TP delay [ns]

TVC(cbch) (0.13,14

~ 1z, robe+u4 | 25
pD 4250+ 0.0
pl -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

AT 1 nuzbble+ud [ 25
po 4239+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(c, bch) (0,137

- . a0ae+0d | 25
pO 4251+ 0.0
pL -36.52:+ 0.00

1(;0
TP delay [ns]

TVC(cbch) (o, 13 1

"1 nug1y3e+u4 / 25
po 4302+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (0,13,15

T nus.usbe+ud / 25
pO 4268+ 0.0
p1 -36.53+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 14 0)

=, pO

©riuiL4s0e+U4 [ 25
4182+ 0.0
pl -36.42+ 0.00

TP delay

TVC(cbch) (0,144

[ns]

=1L buYe+u4 / 25
4202+ 0.0
-34.63 + 0.00

- pO

pl
[ C =28.87 [ps/ch] ]

o+ o
TP delay [ns]

TVC(cbch) (o, 14 8)

Tz yzie+u4 | 25
= pD 4202+ 0.0

pl —35.35:;‘

TP delay

TVC(cbch) (0,14,12

B pO

[ns]

T4 rze+04 /25
4223+ 0.0
pl -35.94 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,14,1)

e, po

AT 1 nuiLzooe+ud [ 25
4195+ 0.0
-35.75+ 0.00

p1

TP delay [ns]

TVC(c, bch) (0,145

-1 nui blye+ud / 25
4206+ 0.0
-34.87 + 0.00

TP delay [ns]

TVC(ebeh)=(0, 14,9

==, po

~ 1 nun.yloe+ud / 25
4218+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,14,13

X rnan g

- po
p1

boe+ud / 25
4225+ 0.0
-36.34+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(CbCh) (0,14,2)

= po

AT 1nun ss1e+04 /25
4201+ 0.0
pl -35.85+ 0.00

TP delay

TVC(cbch) (0.14,6

pO
p1

[ns]

= 1 i bu8e+u4 / 25
4206+ 0.0
-34.02 + 0.00

- C = 29.39 [ps/ch]

50 10‘0
TP delay

TVC(cbch) (0, 14 10

= 90

[ns]

©1nuz 3ove+ud | 25
4232+ 0.0
pl -35.97 + 0.00

TP delay

TVC(cbch) (0. 14,14

- PD

[ns]

~1nuiLpsbe+u4 / 25
4239+ 0.0
pl -37.11+ 0.00

PR IR SRR |
50 100

TP delay

[ns]
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1000
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1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

e po

AT 1 nuiL4nse+ud [ 25
4198+ 0.0
pl -35.19+ 0.00

TP delay

TVC(c, bch) (0,14,7

E. pO

[ns]

- nui /31e+04 / 25
4206+ 0.0
pl -34.54 + 0.00

TP delay

TVC(eh.ch)=(0, 14, 11

. pO

[ns]

~ 1 nuiL ggoe+u4 / 25
4230+ 0.0
pl -36.04 + 0.00

TP delay

TVC(cbch) (0,14,15

e pO
p1

[ns]

T nui oge+ud [ 25
4244+ 0.0
-37.3+ 0.0

TP delay

[ns]
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1000
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1000

TVC(CbCh) (o, 15 0)

rnun g 1se+ud [ 25

pO 4194+ 0.0
pl -33.62+ 0.00

[ C=29.75 [ps/ch]

| 1
50 100

TP delay [ns]

TVC(cbch) (0,154

- i z11e+u4 / 25
- pO 4209+ 0.0
pl -35.99+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 15 8

1 nuiL, (Ube+u4 / 25

= po 4218+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

T rnuiLgnse+ud [ 25
= po 4229+ 0.0
pl -34.85+ 0.00

TP delay [ns]
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1000
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(chh) (0,15,1)

TP delay [ns]

TVC(cbch) (0,155

A7 1 nuiLuybe+u4 / 25
= po 4193+ 0.0
p1 -33.08 + 0.00
[C=30.23 [ps/ch] » ]
-
"
0 1
50 100

=1 nui 493e+04 / 25
e, pO 4212+ 0.0
pL -36.28+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

T inun B2 /e+u4 25
- po 4256+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(cbch) (0.15,13

Tonan g s3e+ud [ 25
= pO 4220+ 0.0
p1 347+ 0.0

TP delay [ns]
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3000
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1000

4000
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2000

4000

3000

2000

1000

TVC(CbCh) (0,15,2)

TP delay [ns]

TVC(cbch) (0.15,6

AT 1nunszse+04 /25
- po 4216+ 0.0
o pl -35.31+ 0.00

3000

-1 nuiL419e+04 / 25
4218+ 0.0
-36.4+ 0.0

TP delay [ns]

TVC(cbch) (0, 15 10

1000

T nuzb3ve+ud | 25
-, po 4275+ 0.0
- pl -36.05+ 0.00

TP delay [ns]

TVC(cbch) (0,15, 14

T 1z3e+ud /25
F-. pD 4217+ 0.0
L pl -34.39+ 0.00

- C = 29.08 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]
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1000
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1000
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1000

4000
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2000

1000

TVC(Cbch) (0,15,3)

AT rnuiLiyie+ud [ 25
e po 4211+ 0.0
p1 -34.86 + 0.00

TP delay [ns]

TVC(c, bch) (0,157

- nui bhre+u4 [ 25
- pO 4233+ 0.0
pL -36.56+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

Tonai/ge+u4 [ 25
4252+ 0.0
-34.4+ 0.0

[ C=29.07 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (0,15,15

T nai s3ae+u4 / 25
= pO 4227+ 0.0
-34.91+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (1,0,0)

T 1sye+ud /25
P, pO 4182+ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(cbch) (1,0,4

“nun 1.48e+u4 /25
e pO 4164+ 0.0
pl -35.93+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

1L bz9e+U4 [ 25
= po 4188+ 0.0
p1 -34.34+ 0.00

TP delay [ns]

TVC(cbch) (1,0,12

i poe+u4 / 25
= po 4200+ 0.0
pl -34.94 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (1,01

AT rnuLosse+ud [ 25
- po 4185+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(c,b ch) (1, O

=1 nui 4nye+04 [ 25
4173+ 0.0
-35.4 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1 0,9

~ 1 nuig.apze+ud [ 25
po 4209+ 0.0
p1 -34.54 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,13

T nui ogse+ud / 25
pO 4200+ 0.0
pl -35.92+ 0.00

TP delay [ns]
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3000
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1000
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1000
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2000

1000

TVC(cbch) (1,0,2)

AT 1nuisore+u4 /25
" po 4178+ 0.0
L pl -35.51+ 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

- Ui bube+ud / 25
4183+ 0.0
-35.4+ 0.0

TP delay [ns]

TVC(cbch) (1, 0 10

© 1 nuiLgoze+u4 / 25
= po 4227+ 0.0
L pl -34.74 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

T i give+u4 / 25
= pD 4213+ 0.0
L p1 -37.25+ 0.00

3000

TP delay [ns]
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1000
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1000

4000
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1000

TVC(cbch) (1,0,3)

A 1L S1ierud ] 25
pe=, po 4202+ 0.0
p1 -36.3+ 0.0

TP delay [ns]

TVC(c,b ch) (1 0,7

-1 i byye+ud / 25
e, pO 4194+ 0.0
pL -36.26+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (1, O

T bzze+u4/25
= po 4235+ 0.0
p1 -35.45 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

-1 nui yye+ud [ 25
= pO 4206+ 0.0
p1 -36.4+ 0.0

TP delay [ns]
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TVC(cbch) (1,1,0

AT inuiss1e+04 /25
P po 4175+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (11,4

- i 304e+04 / 25
= pO 4175+ 0.0
pl -35.57+ 0.00

TP delay [ns]

TVC(eboh)=(1, 1,8

T ry/e+u4 [ 25
- pO 4194+ 0.0
pl -34.56 + 0.00

TP delay [ns]

TVC(cbch) (1,1,12

T L bo3e+U4 / 25
- po 4210+ 0.0
pl -36.27 + 0.00

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

AT 1nuiL3y/e+u4 | 25
Fee,, po 4195+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

-1 nui4yze+u4 [ 25
o pO 4192+ 0.0
pL -36.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

~ 1 nun.Ugle+ud / 25
= po 4218+ 0.0
p1 -34.24.+ 0.00

F C =29.21 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

T nuib3se+ud [ 25
== pO 4203+ 0.0
p1 -36.7 £ 0.0

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (1,1,2)

TP delay [ns]

TVC(cbch) (11,6

K™ 1 nuin4ye+04 /25
e po 4194+ 0.0
o pl -35.23+ 0.00

3000

-1 nurbuze+ud / 25
- pO 4201 0.0
[ pl -35.91+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 1, 10

Tz zzge+04 | 25
-, po 4226+ 0.0
- pl -34.35+ 0.00

- C = 29.11 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,114

~ 1L puze+u4 | 25
= pD 4213+ 0.0
L p1 -36.74 + 0.00

PR IR SRR |
50 100

TP delay [ns]
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1000

4000
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2000

1000

TVC(cbch) (1,1,3

AT rnuiL4pie+ud [ 25
Fee.. po 4202+ 0.0
p1 -34.88 + 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

- 1nui 4z3e+04 / 25
- pO 4201% 0.0
pL -35.12:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
-1 nuiL pobobe+ud / 25
- po 4229+ 0.0
p1 -34.98 £ 0.00

TP delay [ns]

TVC(cbch) (1,1,15

T nuig3ae+u4 /25
= pO 4203+ 0.0
p1 -35.18+ 0.00

TP delay [ns]
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1000

TVC(cbch) (1,2,0

AT zr1e+04 /25
.. po 4194+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (1,24

Tanu 1.3e+04 /25
e, pO 4212+ 0.0
p1 -35.78 + 0.00

50 10‘0
TP delay [ns]

TVC(ebch)=(1,2,8

T rnuiLYole+u4 / 25
= po 4196+ 0.0
pl -34.85+ 0.00

TP delay [ns]

TVC(cbch) (1,212

©rnuizusoe+u4 | 25
= po 4239+ 0.0
pl -36.61+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (1,2,1

AT 1 nunLzuoe+ud [ 25
., po 4195+ 0.0
pl -35.17+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

=11 bbbe+u4 / 25
pO 4230+ 0.0
-35.7+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 2

~ 1 nug.zoge+ud 25
po 4218+ 0.0
pl -35.02 + 0.00

TP delay [ns]

TVC(C, bch) (1,213

Tanai r3ze+ud [ 25
pO 4237+ 0.0
pl -37.14+ 0.00

TP delay [ns]
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1000
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1000

4000
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2000

1000

TVC(cbch) (1,2,2)

TonanLa4e+04 /25
-, po 4208+ 0.0
o pl -35.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

-1 nuib3ve+ud / 25
- pO 4239+ 0.0
[ pl -35.85+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 2, 10

T rnuiLy4ze+u4 | 25
= po 4227+ 0.0
- pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (1,2 14

T 1nuizul4e+ud [ 25
- pD 4238+ 0.0
L pl -36.11 + 0.00

TP delay [ns]
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1000

TVC(cbch) (1,2,3

AT rnuiLlbre+ud [ 25
- po 4202+ 0.0
pl -34.58 + 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

-1 nui b33e+u4 / 25
- pO 4235 0.0
p1 -35.54 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T mze+u4/25
= po 4250+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(C, bch) (1,215

T nuiz.uzye+ud [ 25
4234+ 0.0
-36.1+ 0.0

PR PR S S |
50 100

TP delay [ns]
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TVC(cbch) (1,3,0)

A7 1 nui sove+ud / 25
4205+ 0.0
pl -37.12+ 0.00

TP delay

TVC(cbch) (1,34

[ns]

-1 374e+04 / 25
4199+ 0.0
-37.07 + 0.00

= po
p1
[ C=26.98 [ps/c ]
= =
TP delay [ns]
TVC(c,b ch) (1 3,8

Tz zz4e+04 | 25
PD 4229+ 0.0
-35.2+ 0.0

1
100

TP delay [ns]

TVC(cbch) (1,312

~ i buze+u4 / 25
pO 4193+ 0.0
pl -33.31+ 0.00

[ C =30.02 [ps/ch] ™. ]

50

1
100

TP delay [ns]
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TVC(cbch) (1,3,1)

e, po

AT rnuiLsiie+ud /25
4206+ 0.0
-35.74+ 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (1, 3

=1 i buze+u4 / 25
4230+ 0.0
-38.33+ 0.00

TP delay [ns]

TVC(c,b ch) (1 3,9

~ 1 nug. 1bge+ud / 25
pO 4247+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(C, bch) (1,3,13

T inuiasve+ud [ 25
4195+ 0.0
-33.43+ 0.00

[ C =29.91 [ps/ch] ]

50

il
100

TP delay [ns]
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1000

TVC(cbch) (1,3,2)

- po

K™ 1 nui4uie+ud /25
4209+ 0.0
p1 -36.04 + 0.00

TP delay

TVC(cbch) (1,36

F P°

[ns]

-1 nurg boze+u4 [ 25
4230+ 0.0
pl -38.17 + 0.00

-
L=

100

TP delay [ns]

TVC(cbch) (1, 3 10

T il pble+ud [ 25
po 4269+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (1,3 14

“rna 7 5500/ 25
PD 4190+ 0.0
p1 -33.33+ 0.00

- C = 30.00 [ps/ch]
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P
100

TP delay [ns]
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1000

TVC(cbch) (1,3,3)

o=, po

pl

AT rnuiLssre+ud [ 25
4224+ 0.0
-36.51+ 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

pO
pl

-1 nui b33e+u4 / 25
4236+ 0.0
-37.79 % 0.00

TVC(c,b ch) (1, 3

TP delay [ns]

T bu4e+u4/25
po 4253+ 0.0
p1 -35.46 + 0.00

TP delay [ns]

TVC(C, bch) (1,315

Tonan g age+ud [ 25
pO 4198+ 0.0
-34.01+ 0.00

[ C =29.41 [ps/ch]

PR PR S S |
50 100

TP delay [ns]
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0
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1000

TVC(cbch) (1,4,0)

AT 1nuio1se+ud /25
F o po 4220+ 0.0
pl -38.25+ 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (14,4

S rnun1s1e+04 /25
== po 4202+ 0.0
pl -34.93+ 0.00

50 10‘0
TP delay [ns]

TVC(ebioh)=(1, 4,8

T rnuzZole+u4 | 25
- pO 4241% 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(cbch) (1,4,12

L pobe+u4 / 25
= po 4207+ 0.0
pl -34.86 + 0.00

TP delay [ns]
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1000
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1000

4000
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1000

TVC(cbch) (1,4,1)

X 1L bLierud | 25
F po 4224+ 0.0
pL -38.8+ 0.0

rC=25.77 [psic ]

-
[t

L
50 100

TP delay [ns]

TVC(c,b ch) (1, 4

= 1nui Szze+04 [ 25
== po 4216+ 0.0
pl -35.89 + 0.00

TP delay [ns]

TVC(eb,oh)=(1, 4,9

~ 1 nu.a44e+04 [ 25
- po 4269+ 0.0
pl -36.52 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,13

T inaio3e+ud [ 25
— pO 4216+ 0.0
p1 -35.8+ 0.0

TP delay [ns]
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0
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1000

TVC(cbch) (1,4,2)

K™ 1 nuiosie+u4 /25
F po 4226+ 0.0
- pl -37.95+ 0.00

TP delay [ns]

TVC(cbch) (1,4,6

- i by3e+u4 [ 25
- pO 4221 0.0
[ pl -36.42+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

T zz/e+04 /25
- DO 4289+ 0.0
L -37.31% 0.00

TP delay [ns]

TVC(cbch) (1,4,14

T Loy e+u4 [ 25
- pD 4219+ 0.0
L p1 -35.72+ 0.00

TP delay [ns]
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1000
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1000

4000
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1000

TVC(cbch) (1,4,3)

AT 1L ryve+ud [ 25
=, po 4228+ 0.0
p1 -37.6+ 0.0

TP delay [ns]

TVC(c,b ch) (1 4,7

-1 nui boye+u4d / 25
=, pO 4227+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

1)
T nuiLy/ze+ud [ 25
- po 4276+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

T nui pbse+ud / 25
= pO 4211+ 0.0
p1 -36.09 + 0.00

TP delay [ns]



TVC(cbch)(lSO) TVC(cbch)(lSl) TVC(cbch)(152) TVC(cbch)(153)
A~ 1L r40e+04 / 25 K™ 1 Byze+ud | 25 AT 1L y/se+ud [ 25 A1 lore+ud | 25
4000 Faaen PO 4190+ 0.0 4000 P po 4194+ 0.0 4000 _= po 4199+ 0.0 4000 po 4208+ 0.0
pl -35.56 + 0.00 pl -35.37 + 0.00 r pl -35.6+ 0.0 pl -35.02+ 0.00

3000

- 3000 -1 3000 =1 3000 -

2000 E 2000 - 2000 - 2000 F

- 1000 |~

1000 ] 1000 oo C = 28.55 [ps/ch ]
L 1 1 1 - _1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,54 TVC(cbch) (15,5 TVC(cbch) (1,56 TVC(c, bch) (1,57

-1 nun389e+04 / 25 T 4r1e+04 /25 - rnur bzye+04 [ 25 =1 i buge+u4 / 25
4000 pO 4223+ 0.0 4000 pO 42241 0.0 4000 e, pO 4240+ 0.0 4000 s pO 42421 0.0
pl 3592+ 0.00 pl -36.01+ 0.00 - Pl -36.66+ 0.00 -35.5+ 0.0

3000~ E 3000 E 3000~ ] 3000 E

2000~ E 2000 E 2000~ ] 2000 B

1000} C J 1000 | w00~ C = 27.28 [pS/Ch ] 1000 E

- [ ] -
[ - -
1 L5 o 1 [ 1 =
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (1, 5 8) TVC(c,b Ch) (1, 5 ) TVC(c,b, Ch) (1, 5 10) TVC(c,b Ch) (1, 5 1)
© U o4ye+ud / 25 -1 z8ze+u5 / 25 © 11Uy 500e+04 / 25 ~ s ggge+u4 [ 25
4000 e, pO 4234+ 0.0 4000 [, pO 4258+ 00 4000 [, DO 4272+ 00 4000 fam, p0 4280+ 0.0
Pl -36.31% 0.00 Pl -36.13% 0.00 [ PL_ -36.88% 0.00 Pl -36.84+ 0.00

3000

-1 3000 - 3000 -1 3000 -1

2000 e 2000 - 2000 — 2000

1000 E 1000 4 1000 E 1000

0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(lSl ) TVC(cbch)(1513) TVC(cbch)(151 ) TVC(cbch)(1515)
© iz 1use+u4 / 25 1 nuiz.ybbe+ud / 25 T 34e+04 / 25 Tonan15/e+u4 /25
4000 f pO 4251+ 0.0 4000 e, pO 4246+ 0.0 4000 f, PD 4245+ 0.0 4000 fi, pO 42554 0.0
pl -35.88 + 0.00 pl -35.75+ 0.00 F pl -35.49 + 0.00 pl -35.55 + 0.00

3000

T 3000 1 3000 -1 3000 -1

2000 -1 2000 1 2000 - 2000

1000 1 1000 7 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

PSRALTR

- po
pl

broe+u4 /25
4193+ 0.0
-37.05+ 0.00

TP delay [ns]

TVC(cbch) (16,4

= 1o,

4pbe+u4 | 25
4220+ 0.0
-36.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1 6,8

= 1 nug,

pD
pl

1abe+u4 /25
4221+ 0.0
-34.74 + 0.00

TP delay [ns]

TVC(cbch) (1,6,12

T L bEse+u4 / 25
4231+ 0.0
-37.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1)

=, po

AT 1 nuiLbo/e+u4 /25
4197+ 0.0
-36.59 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (1, 6

Snun1b/e+04 /25
4217+ 0.0
-36.13+ 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

== pO

~ 1 nugp3ze+u4 [ 25
4240+ 0.0
-35.17+ 0.00

pl

TP delay [ns]

TVC(C, bch) (1,6,13

T inuiplze+ud [ 25
4227+ 0.0
-36.38 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000

2000

1000

1000

TVC(cbch) (1,6,2)

ruse+u4 [ 25
4204+ 0.0
-37.39 0.00

A1,

™, po

pl

TP delay [ns]

TVC(cbch) (16,6

- pO

pl

T b 3e+u4 [ 25
4220+ 0.0
-35.59 + 0.00

TP delay [ns]

TVC(cbch) (1, 6 10

- 90

© 1z 184e+04 [ 25
4255+ 0.0
-34.96 + 0.00

pl

TP delay [ns]

TVC(cbch) (1,614

T nuiL43ve+u4 [ 25
4221+ 0.0
-36.01+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (1,6,
e o
pl

3

nuiL, sobe+u4 / 25
4211+ 0.0
-35.83+ 0.00

TVC(c,b ch) (1 6,7

-
pO
pl

1
100

TP delay [ns]

nui byse+u4 / 25
4219+ 0.0
-35.05+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 6

= pO
pl

SRR N b4E+U4/25

4246 £ 0.0
-34.61+ 0.00

I C =28.89 [ps/ch]

1
100

50
TP delay [ns]
TVC(c,b ch) (1,6, 15

X1

nuiL53ve+u4 / 25
4213+ 0.0
-36.1+ 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,7,0

A7 1nui syze+u4 /25
. po 4184+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (17,4

-1 335e+04 / 25
P, pO 4196+ 0.0
pl -36.72:+ 0.00

50 10‘0
TP delay [ns]

TVC(ebioh)=(1,7,8

T g4z e+04 [ 25
= po 4218+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(cbch) (1,7,12

T L paze+u4 | 25
= po 4227+ 0.0
pl -35.39+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,71

X~ 1 i boae+ud | 25
Fee,, po 4202+ 0.0
pL -36.27+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

=1 nui 4pbe+04 / 25
4194+ 0.0
-36.5 % 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 7

Tonanfyre+u4 | 25
= po 4220+ 0.0
pl -35.69 + 0.00

TP delay [ns]

TVC(C, bch) (1,7,13

~ 1 nuiLqpye+ud 25
4228+ 0.0
-36.31+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,7,2)

K™ 1 nui4ose+04 / 25
- po 4195+ 0.0
o pl -355+ 0.0

3000

TP delay [ns]

TVC(cbch) (17,6

T nun1bae+U4 / 25
- pO 4238+ 0.0
u pl -36.93 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 7, 10

© 1 nuigbuse+u4 / 25
o=, po 4228+ 0.0
L pl -35.83+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,7,14

T 13ye+ud /25
- pD 4223+ 0.0
L pl -35.38+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,3

AT 1 nuiLbsse+u4 / 25
- po 4212+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (1 7,7

Srna 1 /e+04 /25
- pO 4221+ 0.0
pL -37.21% 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (1, 7

1)
T nuiz1z29e+04 / 25
= po 4238+ 0.0
p1 -36.49 + 0.00

TP delay [ns]

TVC(C, bch) (1,7,15

T naia3ye+ud [ 25
= pO 4231+ 0.0
p1 -35.58 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0

X~ 11w babe+U4 [ 25
P po 4174+ 0.0
p1 -35.97 + 0.00

TP delay [ns]

TVC(cbch) (18,4

T U4 /e+u4 [ 25
e, pO 4212+ 0.0
p1 -37.74+ 0.00

50 100
TP delay [ns]

TVC(cbch) (1 8,8

- rnuiLyz/e+u4 [ 25
4204+ 0.0
-36.5+ 0.0

1
50 00

TP delay [ns]

TVC(cbch) (1,812

-1 p3le+ud [ 25
= po 4238+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81

AT 1 nuiLoBYe+U4 [ 25
= po 4201+ 0.0
p1 -37.02+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

~ 1 nui44/e+04 [ 25
e, pO 4205+ 0.0
p1 -37.27+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

-1 nup b17e+04 [ 25
4231% 0.0
-36.1+ 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (1, 8 13

~ 1 nuiLqose+ud / 25
= pO 4220+ 0.0
pl -35.24 + 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (1,8,2)

1000

A 1L orve+ud [ 25
- po 4204+ 0.0
L pl -36.61+ 0.00

3000

TP delay [ns]

TVC(cbch) (18,6

-1 nuiL4u5e+04 / 25
- pO 4208+ 0.0
[ pl -36.97 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(1, 8, 10

1000

- 11U 3pye+ud [ 25
-, po 4242+ 0.0
o pl -36.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,8 14

1 nuiL pose+u4 / 25
- pD 4238+ 0.0
L p1 -36.99 + 0.00

3000

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

X1 1 ve+ud | 25
e po 4208+ 0.0
pL -36.72.+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

=1 nui 4uye+u4 / 25
- pO 4209+ 0.0
p1 -37.08+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

T yzze+u4/25
= pO 4236+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 8 15

- i ssve+ud [ 25
= pO 4238+ 0.0
p1 -35.79 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,0)

A7 1nun szae+04 /25
4195+ 0.0
pl -36.06 + 0.00

TP delay

TVC(cbch) (1,94

- PO
pL

[ns]

-1 zgye+ud | 25
4210+ 0.0
-36.21+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 9,8

[ C =29.52 [ps/ch]

T L 3r1e+u4 /25
= pO 4181+ 0.0
pl -33.88+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,9,12

T goze+u4 / 25
= po 4207+ 0.0
p1 -34.7+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,1)

- po

AT 1 nunLszoe+ud [ 25
4205+ 0.0
-35.77 + 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (1, 9

F- pO

-1 nui bzye+u4 [ 25
4223+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

T nai133e+u4 / 25
4213+ 0.0
-34.6 £ 0.0

TP delay [ns]

TVC(C, bch) (1,9,13

Tinai s1ze+ud [ 25
4195+ 0.0
-34.1+ 0.0

[ C =29.33 [ps/ch] ]

PR BRSNS |
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (1,9,2)

- po

pl

AT 1nuigrze+04 /25
4201+ 0.0
-36.17 + 0.00

TP delay [ns]

TVC(cbch) (19,6

- P°

p1

- i 393e+04 / 25
4230+ 0.0
-36.89 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 9 10

T zpse+ud /25
= po 4230+ 0.0
- pl -35.52+ 0.00

TP delay [ns]

TVC(cbch) (1,914

~ 1L zy4e+04 [ 25
- pD 4201+ 0.0
L p1 -35.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9, 3)

AT 1 nuiLogoe+ud [ 25
4234+ 0.0
-37.99+ 0.00

0
¥ .

TP delay [ns]

TVC(c,b ch) (1 9,7

feme pO
pl

-1 nun 341e+04 / 25
4234+ 0.0
-35.99+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 9

T, /me+u4/25
= po 4222+ 0.0
p1 -34.07 + 0.00

[ C =29.35[ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (1,9,15

Tanaizz/e+u4 /25
4209+ 0.0
-34.21+ 0.00

[ C =29.23 [ps/ch] 7

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

T Lzse+ud /25
.. pO 4197+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (1,104

-1 i zobe+ud / 25
- pO 4185+ 0.0
p1 -34.39+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 8

©1nuzb4pe+04 | 25
= po 4230+ 0.0
p1 -37.2+ 0.0

TP delay [ns]

TVC(cbch) (1,10,12

[ C =29.52 [ps/ch]

T grze+u4 /25
= po 4224+ 0.0
-33.87+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,10,1)

AT rnunLLrse+ud [ 25
e, po 4214+ 0.0
p1 358+ 0.0

TP delay [ns]

TVC(c, bch) (1,10,5

-1 nui 341e+04 / 25
e pO 4186+ 0.0
pL -35.08+ 0.00

TP delay [ns]

TVC(ebeh)=( 1, 10,9

T nuiggoze+u4 [ 25
= po 4235+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (110,13

Tonan g zge+ud [ 25
= pO 4228+ 0.0
pl -32.91+ 0.00

[ C =30.39 [ps/ch] ™ 7
s *
TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (1,10,2)

K™ 1 nui1uae+04 /25
o=, po 4201+ 0.0
o pl -349+ 0.0

3000

TP delay [ns]

TVC(cbch) (1,10,6

- i 393e+04 / 25
- pO 4205+ 0.0
[ pl -35.31¢ 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

©1nuiLgo3e+u4 / 25
= po 4252+ 0.0
- pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (110,14

~ 1L bode+U4 / 25
. pD 4229+ 0.0
L pl -34.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

AT 1L zuoe+ud [ 25
=, po 4198+ 0.0
pl -34.57 + 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

S nun1.4z2e+04 [ 25
- pO 4217+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(eh.eh)=(1, 10, 11

T nuiz.uzoe+ud / 25
= po 4278+ 0.0
pl -38.22+ 0.00

TP delay [ns]

TVC(cbch) (1,10,15

T naisroe+ud [ 25
F=. 4213+ 0.0
-33.64+ 0.00

[ C=29.73 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

[ C =26.95 [ps/c ]

AT 1nuisrve+u4 /25
o= po 4201+ 0.0
p1 -37.1+ 0.0

50 100

TP delay [ns]

TVC(cbch) (1,114

- 1L za5e+04 / 25
- pO 4206+ 0.0
p1 -35.75+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh=(L, 11,8

T a4 /e+04 /25
4227+ 0.0
-36.8+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,11, 12

X~ 1 ayse+04 [ 25
e, PO 4241+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

e, po

A~ 1 nuiLblie+ud /25
4211+ 0.0
-36.4 £ 0.0

p1

TP delay

TVC(cbch) (1,11,5

[ns]

-1 nui 345e+04 / 25
4202+ 0.0
pl -35.99 + 0.00

TP delay

TVC(eh.eh)=(1, 11, 9

e, po

[ns]

Tonan g z3e+04 1 25
4253+ 0.0
pl -37.52+ 0.00

TP delay

TVC(cbch) (1,11,13

pO

[ns]

1 nuiLquoe+ud / 25
4239+ 0.0
pl -36.48 + 0.00

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1, 11 2)

T Lo ioe+ud /25
__- pO 4226+ 0.0
- pl -37.26+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,116

-1 nuiL4p5e+04 / 25
- pO 4221 0.0
[ pl -36.06 + 0.00

TP delay [ns]

TVC(eb,eh)=(1, 11, 10

1000

0

X7 1 nuizbo3e+u4 /25
- po 4271+ 0.0
- pl -36.83 + 0.00

TP delay [ns]

TVC(cbch) (111,14

Tl ze+u4 [ 25
- pD 4235+ 0.0
[ p1 -37.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

po

AT rnuiL4zse+ud [ 25
4228+ 0.0
pl -36.31+ 0.00

TP delay

TVC(cbch) (1,11,7

o= pO

[ns]

-1 nui bure+u4 [ 25
4231+ 0.0
pl -35.93+ 0.00

50 1(;0
TP delay

TVC(c,b ch) (1, 11 11

= pO

[ns]

-1 nuiz1uze+u4 [ 25
4275+ 0.0
pl -36.95+ 0.00

TP delay

TVC(cbch) (111,15

[ns]

-1 nuiLsuoe+u4 / 25
4245+ 0.0
p1 -37.42+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

T 1z/e+ud /25
P pO 4155+ 0.0
p1 -34.7+ 0.0

TVC(chh) (1, 12 1)

4000 [,

3000

2000

1000

pO

- i zave+ud [ 25
4164+ 0.0
-35.15+ 0.00

p1

1
100

TP delay [ns]

TVC(cbch) (1,124

- ss1e+u4 / 25
- pO 4172 0.0
p1 -35.14+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 12,8

- rnuz 114e+04 | 25
- po 4197+ 0.0
pl -35.56+ 0.00

TP delay [ns]

TVC(cbch) (1,12,12

T rnuiLg1ze+04 /25
pO 4194+ 0.0
pl -34.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(cbch) (1,125

- nui blve+u4d [ 25
- pO 4185+ 0.0
p1 -35.46 + 0.00

TP delay [ns]

TVCEebeh)=( 1, 12,9

[ C =29.18 [ps/ch]

T nu.10ze+u4 / 25
= po 4203+ 0.0
p1 -34.27 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (112,13

T nui sbae+ud / 25
= pO 4192+ 0.0
pl -35.77 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

F=. po

A1 L zse+ud | 25
4174+ 0.0
p1 -34.86 + 0.00

TVC(Cbch) (1,12,3)

X

4000 [,

3000

2000

1000

po
pL

1L sse+u4 [ 25
4180+ 0.0
-34.39+ 0.00

1
100

TP delay [ns]

TVC(cbch) (1126

-1 nuiL499e+04 [ 25
e pO 4184 0.0
[ pl -35.27 + 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

T rnuzg31e+u4 /25
= po 4224+ 0.0
L p1 -35.49+ 0,00

TP delay [ns]

TVC(cbch) (112,14

T rnuiLgo1e+04 /25
pD 4208+ 0.0
pl -36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(c, bch) (1,127

- nui brye+ud [ 25
- pO 4198+ 0.0
p1 -35.48+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 11

~ 1 nui gule+ud / 25
= po 4216+ 0.0
p1 -34.64 + 0.00

TP delay [ns]

TVC(cbch) (1,12,15

- T nui so3e+ud [ 25
pO 4196+ 0.0
-35.13+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

TVC(CbCh) (1,13,0)

X~ 1 g yz4e+04 [ 25
4205+ 0.0
-37.47 + 0.00

TP delay [ns]

TVC(cbch) (1,134

- i bzoe+ud | 25
4212+ 0.0
-35.17 + 0.00

e po
pl
3000 - 7
2000 T
1000 C T
| L
50 100
TP delay [ns]
TVC(c,b, ch) (1, 13 8)
T rnun 1 9ye+ud /25
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (2, 4 8) TVC(c,b Ch) (2, 4 9) TVC(c,b, Ch) (2, 4 10) TVC(c,b Ch) (2, 4 11)
1 nug.yvye+u6 / 25 T g u3be+us / 25 T, (4/e+05/ 25 -1z 209e+07 / 25
4000 pO 4237+ 0.0 4000 [, pO 4257+ 00 4000 e, DO 4277+ 00 4000 fs p0 4261% 0.0
pl -384 0.0 pL_ -37.22% 0.00 [ PL_ -37.23% 0.00 Pl -36.86+ 0.00

3000

. 3000 -1 3000 -1 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

0

TVC(cbch)(24l ) TVC(cbch)(2413) TVC(cbch)(24l ) TVC(cbch)(2415)
i 3o5e+U6 / 25 Tinu sr3e+ud [ 25 T 1nup.zrse+u4 | 25 T nuis.70/e+U6 / 25
4000 [, pO 4248+ 0.0 4000 pO 4229+ 0.0 4000 PD 4232+ 0.0 4000 [ pO 4244+ 0.0
-34.69+ 0.00 pl -34.99+ 0.00 F pl -35.03+ 0.00 pl -35.22+ 0.00

- 3000

3000~ _ 3000 - 3000 -1

2000 [~ | 2000 -1 2000 -1 2000

- 1000 |~ =1 1000 = 1000

000 C = 28.83 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (2,5,0) TVC(c,b Ch) (2,5,1) TVC(c,b Ch) (2,5,2) TVC(c,b Ch) (2,5,3)
K- 1, 2uze U5 1 25 % 1 s bave+UB | 25 5~ dore+U5 1 25 K 1 s Loserud | 25
4000 e, po 4211% 0.0 4000 [Rem,, po 4217+ 0.0 4000 [, po 4222+ 0.0 4000 e, po 4221+ 0.0
Pl -35.66+ 0.00 pl 3555 0.00 [ Pl -3654% 0.00 Pl -36.670.00

3000

-1 3000 - 3000 =1 3000 1

2000 E 2000 - 2000 B 2000

1000 - 1000

- 1000 =1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,54 TVC(cbch) (2,5, TVC(cbch) (2,56 TVC(c, bch) (25,

4000 S l)b$e+u5 125 T 2&4HE+UG 125 S J)U1e+U4 125 Trnuy, L)/4E+l)6/25
4191+ 0.0 4000 o, DU 4190+ 0.0 4000 e, pO 4203+ 0.0 4000 pO 4198+ 0.0
-36.41+ 0.00 pL -36.62.+ 0.00 F pl -35.93:+ 0.00 pL -35.67 + 0.00
3000 1 3000 =1 3000 -— —- 3000 - -1
2000 E 2000 - 2000 ] 2000 T
1000 ] 1000 ] wool- C = 27.83 [ps/ch 7 wool- C = 28.03 [ps/ch ]
1 -~ 1 L 1 1 -
0 EY 00 0 50 00 0 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2 5,8 TVC(cbch) (2 5 TVC(cbch) (2, 5 10 TVC(cbch) (2, 5

TG \?/tse-*us 125 S Huwz?/ueﬂ)S 125 RIS 12§1e+06/25 T b)de+l]6/25
4000 pO 4212+ 0.0 4000 e, 4242+ 0.0 4000 o, DO 4246+ 0.0 4000 o, p0 4260+ 0.0
Pl -34.36+0.00 -34.53 0.00 3 Pl 3478 0.00 -34.56+ 0.00
3000~ E 3000 E a000f ] 3000 B
2000~ b 2000 [ — 2000fF ] 2000 [ B
F e = - L 4 1000 E [ ]
10 C =29.10 [ps/ch] ™, w0 C = 28.96 [ps/chl ™y, L ] lo00F C = 28.93 [ps/ch]
1 1 - 1 1 - L 1 1 "
0 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(251 ) TVC(cbch)(2513) TVC(cbch)(251 ) TVC(cbch)(2515)
T 1nuig.z44e+06 / 25 T inuiz, [uze+u6 | 25 T g zsze+u4 | 25 1 nus, 12oe+U6 / 25
4000 [, pO 4224+ 0.0 4000 [, pO 4247+ 00 4000 [, pD 4246+ 0.0 4000 e, PO 4240+ 0.0
pl -34.53+ 0.00 -34.17+ 0.00 F pl -34.85+ 0.00 pl -34.87 + 0.00

3000

T 3000 - - 3000 - 3000 -

2000 2000 - 4 2000 — 2000

1000 1000 E 1000

1000 C = 29.27 [ps/ch]

PR BRSNS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,0

A1 uzre+U5 /25
o po 4199+ 0.0
p1 -35.25+ 0.00

TP delay [ns]

TVC(cbch) (26,4

- 1, 759e+U6 / 25
- po 4250+ 0.0
pl -35.68 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2 6,8

1L gzoe+U6 / 25
pO 4251+ 0.0
p1 -34.81+ 0.00

TP delay [ns]

TVC(cbch) (2,6,12

T rnuiLuzse+U7 /25
po 4238+ 0.0
pl -33.19+ 0.00

C =30.13 [ps/ch] 2. 7

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

A~ 1 nuig yoze+U5 [ 25
k.. po 4210+ 0.0
p1 -35.58 + 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

-1 nui Zz9e+U6 / 25
[, DO 4267+ 0.0
pl -34.92+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,9

T nu g /2e+U5 [ 25
- po 4267+ 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 6 13

T naiLusse+u6 / 25
= 4233+ 0.0
-34.68 + 0.00

[ C =28.83 [ps/ch] ]

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (2,6,2)

A I'U'lllle+U5/25
- po 4210+ 0.0
[ Pl -35.88+ 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

- C = 28.45 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(2, 6, 10

1 nuiL 3ope+U6 / 25
- po 4285+ 0.0
[ p1 -36.22 + 0.00

T nun134e+06 / 25
=3 po 4252+ 0.0
[ pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (2,614

T 1 nuy.prye+Us / 25
pD 4229+ 0.0
-35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

A~ 1 nurs.UzZoe+ud | 25
k. po 4221% 0.0
pL -35.53+ 0.00

[ C=28.14 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (2 6,7

“nug, [13e+04 / 25
pO 4261 0.0
p1 -34.76+ 0.00

[ C =28.77 [ps/ch] 7]

50 100
TP delay [ns]

TVC(c,b ch) (2, 6

T, /zue+u7 125
pO 4269+ 0.0
p1 -35.14+ 0.00

[ C=28.45[ps/ch]™ 1

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 6 15

Tonanziie+u7 /25
4255+ 0.0
-35.19+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

B23e+U5 [ 25
4203+ 0.0
-36.18 + 0.00

A1 g,

e, po
pL

TP delay [ns]

TVC(cbch) (2,7,4

.b3ze+u4 | 25
4187+ 0.0
-34.78 + 0.00

— po,..u.l
pl
e 4
| , =
50 100
TP delay [ns]
TVC(cbch) (2, 7 8
fome pO

.Ub3e+U6 / 25
4205+ 0.0
-35.09 + 0.00

TP delay [ns]

TVC(cbch) (2,7,12

 11uiz,pube+U6 / 25
4214+ 0.0
-36.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,1)

ru1e+u6 / 25
4214+ 0.0
-36.77 + 0.00

A,

e, po
pL

TP delay [ns]

TVC(c,b ch) (2 7,5

=1 i 340e+U5 / 25
4191+ 0.0
-34.86 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

Tinan1.41e+06 /25
4228+ 0.0
-34.83 + 0.00

TP delay [ns]

TVC(C, bch) (2,7,13

X~ 1 nus,

= po

199e+U5 / 25
4214+ 0.0
-35.58 + 0.00

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (2,7,2)

- b

T 4.89e+U6 / 25
4211+ 0.0
-37.31+ 0.00

pl

TP delay [ns]

TVC(cbch) (2,7,6

T b8 /e+u4 [ 25
4217+ 0.0
-35.31+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 7, 10

- b0

pl

1L 20pe+U5 / 25
4223+ 0.0
-35.27 + 0.00

TP delay [ns]

TVC(cbch) (2,7,14

©1nuig,sy4e+U5 / 25
4226+ 0.0
pl -36.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3)

A1,

= po
pL

bove+u6 / 25
4211+ 0.0
-36.12+ 0.00

TP delay [ns]

TVC(c,b ch) (2 7,7

=g,
pO
pl

loze+ud [ 25
4213+ 0.0
-35.26 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

e, pO

T p, z4e+u6/25
4251+ 0.0
-35.68 + 0.00

pl

TP delay [ns]

TVC(C, bch) (2,7,15

A nan s,

Lre+u6 /25
4220+ 0.0
-36.07 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,80

A~ 11y ozoe+U5 /25
k... PO 4219+ 0.0
p1 -35.34+ 0.00

TP delay [ns]

TVC(cbch) (28,4

- rnu313e+U6 / 25
po 4222+ 0.0
pl -34.39 + 0.00

-

[ C =29.08 [ps/ch] 7]

50 10'0
TP delay [ns]

TVC(cbch) (2 8,8

Tz g1ze+06 / 25
pO 4224+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(Cbch) (2, 8 12

T 5.U0e+U5/ 25
= po 4268+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,81

AT 1 nuz,1u3e+U6 / 25
e po 4225+ 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

S nunz1be+u5 / 25
4228+ 0.0
-33.86 + 0.00

C =29.54 [ps/ch] 7]

50 150
TP delay [ns]

TVC(c,b ch) (2 8,9

T inuiL B2 /e+U6 / 25
po 4232+ 0.0
p1 -35.12+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 8 13

T inun 3.00e+U5 /25
4244+ 0.0
-36.1+ 0.0

PR R SR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

TVC(cbch) (2,8,2)

A~ 1 nup, 948e+U6 / 25
4224+ 0.0
-34.89+ 0.00

[ PO
L pl
C *]
L C=28.66 [ps/chPh

+ s

TP delay [ns]
TVC(eb.oh)=(2,8,6)
=1 nug, 302e+U6 / 25

- pO 4252:‘
[ pl -34.51+ 0.00
FC =28.98 [ps/ch™. 1

+ o

TP delay [ns]

TVC(eb,oh)=(2, 8, 10

Tz (ze+U5/25
po 4254+ 0.0
p1 -34.85+ 0.

:- -34.85 + 0.00
3000:— 7
2000:— _:
wof C = 28,69 [ps/ch],

) 4 o

4000

3000
2000

1000

TP delay [ns]

TVC(Cbch) (2, 8 14

- 11Uy saze+U6 / 25
4272+ 0.0
-36.35+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,83

AT 1 nuiz,2yoe+U6 / 25
e, po 4230+ 0.0
p1 -33.94+ 0.00

[ C =29.46 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 8,7

-1 U, 681e+U6 / 25
= po 4263+ 0.0
p1 -35.68+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8
o= pO

S UHE+U6/25
4280+ 0.0
p1 -35.76 £ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8 15

<1 nuiz.oyze+U6 / 25
- pO 4265+ 0.0
p1 -37.15+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0)

T 11oe+u7 /25
- pO 4170+ 0.0
p1 -35.55 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,94

~ 1 nuiLub1e+u6 / 25
b pO 4207+ 0.0
p1 -37.47+ 0.00

TP delay [ns]

TVC(cbch) (2 9,8

1y gz8e+U5 | 25
= po 4202+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (2,9,12

-1y, 105e+U5 / 25
pres, pO 4199+ 0.0
pl -36.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,91

A1 L oaze+UT | 25
o po 4155+ 0.0
pL -36.6 + 0.0

TP delay [ns]

TVC(c,b ch) (2 9,5

=1 nuiL 2u0e+07 / 25
po 4192+ 0.0
p1 -37.44 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2 9,9

T inuzg3/e+u5 [ 25
pree, DO 4217+ 0.0
p1 -35.13+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 9 13

T inugnz/e+u6 / 25
- pO 4203+ 0.0
p1 -36.15+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,9,2)

K- 1nuiL 41 re+u4 /25
= po 4178+ 0.0
L p1 -35+ 0.0

3000

TP delay [ns]

TVC(cbch) (29,6

Tnug.4/e+06 /25
- pO 4212+ 0.0
- pl -36.37 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(2, 9, 10

© 1 nuiL31pe+U6 / 25
- po 4243+ 0.0
N p1 -35.33+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,914

T nuiLbrze+U6 / 25
= pD 4202+ 0.0
L p1 -36.75+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3

A 1L 4z0e+U7 [ 25
ee po 4176+ 0.0
p1 -35.24+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,7

1 nuiL 718e+07 / 25
po 4212+ 0.0
i pl -37.36+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2, 9

Tnug, zu::e+u6/25
pa=e, pO 4243+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 9 15

- b, 20be+u4 [ 25
o=, pO 4202 0.0
p1 -36.17 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

T, 230e+U6 / 25
Pee,, pO 4157+ 0.0
p1 -35.5+ 0.0

TP delay [ns]

TVC(Cbch) (2, 10 4

T i 74 /e+06 / 25
e pO 4190+ 0.0
p1 -34.87+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2,10,8

T nuig,130e+U6 / 25
= PD 4212+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(Cbch) (2, 10 12

Tz 3re+U6 /25
= po 4244+ 0.0
pl -35.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

AT nuy,(13e+U6 / 25
pose,, po 4181+ 0.0
p1 -35.07 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 5

-1 nug b3ze+u6 / 25
e pO 4205+ 0.0
p1 -34.63+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 10,9

TinuiL131e+U6 / 25
- pO 4247+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 10 13

Tinui/ble+u6 / 25
= pO 4228+ 0.0
p1 -36.07 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,10,2)

A1y, 7 38e+U5 / 25
-, po 4187+ 0.0
L p1 -36.51+ 0.00

3000

TP delay [ns]

TVC(Cbch) (2, 10 6

-1 U 2oze+04 [ 25
- pO 4227+ 0.0
[ pl -35.84+ 0.00

TP delay [ns]

TVC(e,b.eh)=(2, 10, 10

©1nuz,zove+U6 / 25
E- po 4280+ 0.0
- pl -36.64 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 14

T g 5r1e+U6 / 25
F-. pD 4227+ 0.0
L pl -35.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,10, 3)

A7 1 nuiz,ugse+U6 / 25
e po 4170+ 0.0
p1 -35.26 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 7

-1 nuy.484e+05 / 25
- pO 4229+ 0.0
p1 -35.85+ 0.00

TP delay [ns]

TVC(eh.eh)=(2,10, 11

T 1 nub.p15e+U6 / 25
- po 4267+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(cbch) (2, 10 15

[ C=28.72 [ps/ch]

Tonan 1 uze+u7 /25
po 4241+ 0.0
p1 -34.82 + 0.00

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

A~ 1o i7e+u5/ 25
4178+ 0.0
p1 -35.55+ 0.00

TP delay

TVC(cbch) (2, 11 4

[ns]

T rnuzz(1e+06 / 25
4193+ 0.0
-34.83+ 0.00

= pO
pl
- C =
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 11 8)
Tz r42e+06 / 25
= po 4206+ 0.0
pl -36.27 + 0.00

TP delay

TVC(c,b Ch) (2,11,12

[ns]

A~ 1 nuir ouze+u4 / 25
= po 4232+ 0.0
p1 -35.3+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 11 1)

e pO

T z.s3e+ud [ 25
4191+ 0.0
p1 -36.02+ 0.00

TP delay

TVC(c,b Ch) (2, 11 5

[ns]

~ 1 nuguse+u4 / 25
4195+ 0.0
pl -35.56 + 0.00

TP delay

TVC(cbch) (2,11,9

pO
pl

[ns]

1 nug. 79Ye+U6 / 25
4223+ 0.0
-35.57 + 0.00

TP delay

TVC(c,b ch) (2, 11 13

= pO

[ns]

T inuiz1zze+U6 / 25
4238+ 0.0
p1 -35.37+ 0.00

TP delay

[ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(CbCh) (2,11, 2)

- PO

A1 sose+Us / 25
4196+ 0.0
p1 -36.06 + 0.00

TP delay

TVC(chh) (2, 11 6

pD

p1

[ns]

=1 nung,383e+U5 / 25
4201+ 0.0
-35.67 + 0.00

TP delay

[ns]

TVC(eb,ch)=(2, 11, 10)

X~ b 121e+05/ 25
- po 4245+ 0.0
[ p1 -34.9+ 0.0

TP delay

TVC(c,b Ch) (2, 11 14

= 0

[ns]

)

T 4.59e+U5/ 25
4238+ 0.0
pl -35.99+ 0.00
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,3,0

K™ 1w zoze+U4 [ 24
- PO 4188+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(cbch) (3,34

- i zove+ud [ 24
pO 4210 0.0
pl -34.18 + 0.00

TP delay [ns]

TVC(cbch) (3 3,8

T rnuzbhe+ud [ 24
pD 4212+ 0.0
pl -35.17 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,312

~1nuibuge+ud [ 24
4231+ 0.0
-35.8+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,3,1)

S sse+ud [ 24
[, PO 4196+ 0.0
pl -36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

T 1.35e+04 [ 24
- DU 4222+ 0.0
Pl -35.29 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 3,9

T nun . n3ae+U4 [ 24
- DO 4220+ 0.0
pl -34.66 + 0.00

TP delay [ns]

TVC(C, bch) (3,313

a1 43e+u4 [ 24
PO 4233+ 0.0
pl -35.9+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,3,2)

o Lsve+rud [ 24
e PO 4212+ 0.0
F pl -35.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (33,6

T rnuiL3y1e+u4 / 24
- pO 4231+ 0.0
3 355+ 0.0

3000

TP delay [ns]

TVC(cbch) (3, 3 10

© a2, yyoe+ud [ 24
- DO 4250+ 0.0
I pl -35.56 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,314

T g 3ye+ud [ 24
- pD 4216+ 0.0
I pl -35.85+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3

AT 1 nuiL ssBe+U4 [ 24
- PO 4212+ 0.0
p1 -34.51+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,7

“nan1.age+u4 [ 24
PO 4248+ 0.0
pl -34.56 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 3

T rnug yme+u4/24
- pO 4250+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(C, bch) (33,15

~ g az3e+u4 | 24
4238+ 0.0
-36.41+ 0.00

TP delay [ns]



TVC(cbch) (3,4,0

4000 [

3000

2000

1000

A 1L 440e+04 [ 24
- po 4193 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(cbch) (34,4

T L4y /e+ud [ 24
pO 4227+ 0.0
pl -36.02 + 0.00

4000 e

3000 1

2000~ -

1000 [~ C -

0 55 5 =
TP delay [ns]
TVC(c,b ch) (3, 4 8
4000

3000

2000

1000

0

T g 1oe+ud [ 24
4210+ 0.0
-34.31+ 0.00

0

TP delay [ns]

TVC(cbch) (3,4,12

4000 [

3000

2000

1000

TinuiLp3ie+ud / 24
PO 4236+ 0.0
pl -36.41+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3.4,1

A~ 1 Ui 4nae+ud [ 24
- PO 4190 0.0
pl -36.2 % 0.0

TP delay [ns]

TVC(c,b ch) (3 4,5

S nun 1bbe+04 [ 24
DU 4232+ 0.0
pL -36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

T nu 3ose+ud [ 24
DO 4230+ 0.0
pl -34.85+ 0.00

TP delay [ns]

TVC(C, bch) (3,4,13

T bz4e+u4 [ 24
pO 4222+ 0.0
pl -37.22+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,4,2)

X~ 1w oo1e+U4 /24
- po 4186+ 0.0
[ pl -35.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (34,6

T 3r1e+04 /24
= pO 4240+ 0.0
3 Pl -37.36% 0.00

3000

TP delay [ns]

TVC(cbch) (3, 4 10

TnuiLg3e+u4 [ 24
- DO 4239+ 0.0
I pl -35.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,4,14

~nuiL484e+04 | 24
- pD 4222+ 0.0
I pl -36.83 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3

AT 1nuiLbzie+ud | 24
= PO 4205+ 0.0
p1 -36.81+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

S nun 159e+04 [ 24
- PO 4248+ 0.0
pL -35.92:+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 4

T nan aq/e+u4/24
- pO 4245+ 0.0
pl -34.91+ 0.00

TP delay [ns]

TVC(C, bch) (34,15

T 4z0e+04 | 24
= pO 4225+ 0.0
pl -36.06 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,5,0)

AT 1nuizioe+u4 /24
po 4201+ 0.0
p1 -35.23+ 0.00

1
100

TP delay [ns]

TVC(cbch) (3,54

- i b49e+04 [ 24
pO 4213+ 0.0
p1 -35.35+ 0.00

- C |
5(‘) 10‘0
TP delay [ns]
TVC(c,b ch) (3, 5 8

T rnuig.gole+u4 [ 24
po 4239+ 0.0
pl -34.93 + 0.00

0

1
100

TP delay [ns]

TVC(cbch) (3,5,12

po
p1

T i ooze+u4 /24
4293+ 0.0
-36.33+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

A 1L Zuaerud | 24
e po 4227+ 0.0
pL -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

-1 nui byse+ud [ 24
e pO 4203+ 0.0
Pl -34.67+0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

T inu.a18e+u4 [ 24
po 4269+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 5 13

T naiL zooe+ud / 24
e, pO 4281+ 0.0
pl -36.74 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000
3000
2000

1000

0

4000

3000

2000

TVC(cbch) (3,5,2)

A7 1 nui sone+U4 /24
_-_ po 4232+ 0.0
L pl -35.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,56

1000

- i booe+u4 [ 24
- pO 4207+ 0.0
[ pl -34.36+ 0.00

TP delay [ns]

TVC(cbch) (3, 5 10

T 1nuzpbae+ud [ 24
po 4283+ 0.0
p1 -34.89 % 0.00

TP delay [ns]

TVC(cbch) (3,5,14

1000

T i sooe+ud / 24
pD 4281+ 0.0
pl -36.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT rnuiLsrze+ud [ 24
— po 4239+ 0.0
p1 -35.76 + 0.00

TP delay [ns]

TVC(cbch) (3,57

Sonun 1e+V4 /24
- pO 4219+ 0.0
p1 -34.34+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 5

T, /4/e+u4/24
4289+ 0.0
-35+ 0.0

TP delay [ns]

TVC(c,b ch) (3, 5 15

Tanai sroe+ud [ 24
po 4294+ 0.0
p1 -36.88 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0)

AT zzie+04 /24
4175+ 0.0
-34.11 + 0.00

TP delay [ns]

TVC(cbch) (36,4

T 3rze+04 [ 24
- pO 4239+ 0.0
p1 -36.66+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

©1nuig.Usbe+u4 / 24
-, po 4229+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

TrnuiLsse+u4 /24
= po 4221+ 0.0
pl -35.12+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,6,1)

T Lzse+ud [ 24
P, pO 4186+ 0.0
p1 -34.6 + 0.0

TP delay [ns]

TVC(c,b ch) (3 6,5

- nun 3n3e+04 [ 24
- pO 4255+ 0.0
p1 -37.47+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T nu.349e+04 [ 24
= po 4256+ 0.0
pl -36.19 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 6 13

Tonaizsie+ud [ 24
pO 4233+ 0.0
pl -35.92+ 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (3,6,2)

1000

AT rnuns1se+04 /24
e po 4203+ 0.0
L pl -35.22+ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

T3 /e+U4 [ 24
- pO 4258+ 0.0
- pl -36.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 6 10

T nuiLgase+U4 [ 24
po 4250+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (3,6,14

T zzse+u4 | 24
pD 4245+ 0.0
pl -36.49+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

AT 1L sove+ud [ 24
= po 4191+ 0.0
p1 -34.59 + 0.00

TP delay [ns]

TVC(cbch) (3,67

-1 nui bage+u4 [ 24
- pO 4260+ 0.0
p1 -37.82:+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

T 5me+u4/24
pe=, po 4265+ 0.0
pl -36.73+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 6 15

T nai szoe+ud [ 24
4239+ 0.0
-35.61+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0

AT zize+ud /24
P po 4195+ 0.0
p1 -35.14+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,7,

T lrye+ud [ 24
e, pO 4204+ 0.0
p1 -35.43+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

T zuae+ud [ 24
= po 4212+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (3,7,12

TrnuiLsyre+ud [ 24
pO 4224+ 0.0
-34.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,1

AT rnuiLlroe+ud [ 24
' po 4199+ 0.0
pl 35+ 0.0

TP delay [ns]

TVC(c,b ch) (3 7,5

~ 1 nui 340e+04 / 24
po 4193+ 0.0
p1 -34.75+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

T nu gbae+u4 [ 24
po 4239+ 0.0
pl -36.52 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 7 13

T inai suze+ud [ 24
pO 4208+ 0.0
pl -34.97 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (3,7,2)

A7 nui soze+04 /24
_- po 4215+ 0.0
L pl -36.05+ 0.00

3000

TP delay [ns]

TVC(cbch) (37,6

- rnui Zoze+u4 [ 24
- pO 4212+ 0.0
[ pl -35.84+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

Tz sz9e+04 [ 24
= po 4254+ 0.0
o pl -36.73+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,7,14

T zoze+ud [ 24
pD 4209+ 0.0
pl -34.38+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

A7 1L so4e+ud [ 24
P, po 4215+ 0.0
p1 -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

- nun b3ye+u4d [ 24
- pO 4225+ 0.0
p1 -35.62:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 7

T bzue+u4/24
pe=, po 4253+ 0.0
pl -36.91+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7 15

Tnai zise+ud [ 24
- po 4215+ 0.0
p1 -35.4+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0

A7 1 nuiL qo0e+04 / 24
Fee. po 4218+ 0.0
p1 -37.3+ 0.0

TP delay [ns]

TVC(cbch) (38,4

T 141e+04 / 24
- pO 42214 0.0
353+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (3 8,8

Tz, ryge+u4 | 24
po 4248+ 0.0
pl -38.18 + 0.00

TP delay [ns]

TVC(cbch) (3,812

TrnuiLgo/e+u4 /24
= po 4237+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

AT rnuiLagoe+ud [ 24
', po 4197+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

T nuZ/3e+04 [ 24
pO 4209+ 0.0
p1 -35.14 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 8,9

T nu gb3e+ud / 24
po 4264+ 0.0
pl -37.52+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 8 13

Tinuisroe+ud [ 24
pO 4233+ 0.0
pl -36.05+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

4000

2000

1000

TVC(cbch) (3,8,2)

A1 4sze+04 [ 24
" po 4199+ 0.0
L pl -35.9+ 0.0

3000

TP delay [ns]

TVC(cbch) (3,86

1000

T nuiL3u3e+u4 / 24
- pO 4217+ 0.0
- pl -35.19 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 8 10

1000

0

T nuz 3gve+ud | 24
. po 4270+ 0.0
- pl -37.9+ 0.0

3000

TP delay [ns]

TVC(cbch) (3,814

T szye+u4 [ 24
- pD 4231+ 0.0
[ p1 -36.33+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

AT rnuiL4roe+ud [ 24
P po 4229+ 0.0
p1 -37.08+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

- nui blye+ud [ 24
- pO 4238+ 0.0
p1 -36.08:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

T au4e+u4/24
4274+ 0.0
-38+ 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (3, 8 15

T nui sove+ud [ 24
e pO 4241+ 0.0
p1 -35.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,9,0

AT 1L 4uie+ud [ 24
e, po 4213+ 0.0
p1 -35.44 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (39,4

- i buge+u4 [ 24
- pO 4207+ 0.0
p1 -34.89+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 9,8

Tz 3z1e+04 /24
= po 4215+ 0.0
p1 -34.84+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,9,12

T psze+u4 [ 24
pO 4269+ 0.0
pl -36.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,91

AT 1 nuLuzoe+ud [ 24
e, po 4230+ 0.0
p1 -35.97 + 0.00

TP delay [ns]

TVC(c,b ch) (3 9,5

“nuiLby/e+ud [ 24
e, pO 4214+ 0.0
Pl -35.93: 0.00

TP delay [ns]

TVC(c,b ch) (3 9,9

<1 nub.obbe+ud / 24
= po 4228+ 0.0
pl -35.42+ 0.00

1
50 100

TP delay [ns]

TVC(c,b Ch) (3, 9 13

TinuiLasse+ud [ 24
- pO 4247+ 0.0
pl -36.58 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,9,2)

T L zae+ud [ 24
__ pO 4230+ 0.0
- pl -35.7+ 0.0

3000

TP delay [ns]

TVC(cbch) (39,6

-1 nurLysge+ud [ 24
pe, pO 4229+ 0.0
[ pl -35.83+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 9 10

T nuz sloe+ud [ 24
- po 4249+ 0.0
- pl -34.83 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,9,14

~1nuiLpyse+u4 [ 24
-, pD 4254+ 0.0
L pl -37.72+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,3)

T Lsse+ud [ 24
e, pO 4228+ 0.0
p1 -34.85+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,7

S 188e+04 [ 24
- pO 4239+ 0.0
p1 -34.96+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 9

T g u::e+u4/24
- po 4255+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 9 15

T inuiasbe+ud [ 24
e po 4246+ 0.0
p1 -36.84 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

T Lsie+ud /24
Fee.. pO 4217+ 0.0
p1 -36.83+ 0.00

TP delay [ns]

TVC(Cbch) (3, 10 4

-1 i 4pbe+04 [ 24
e, pO 4204+ 0.0
p1 -36.69+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3, 10 8

Tz sz4e+04 | 24
- pO 4249+ 0.0
pl -36.82+ 0.00

TP delay [ns]

TVC(Cbch) (3, 10 12

T L4 se+u4 [ 24
pO 4233+ 0.0
pl -34.84+ 0.00
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (3,10,1)

X~ 1 nuiLadaerud | 24
Fee.. po 4219+ 0.0
pL -37.77 £ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 10 5

- InuLb71e+U4 [ 24
™, DU 4211+ 0.0
pl -36.65 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 10

T nu. yuse+ud 24
- po 4263+ 0.0
pl -36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 10 13

Tinaig1ze+ud [ 24
= pO 4233+ 0.0
p1 342+ 0.0

TP delay [ns]

4000

2000

4000

3000
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4zve+04 [ 25
4212+ 0.0
-36.38+ 0.00

A

po
pL

TP delay [ns]

TVC(c,b ch) (4 57

b=, pO
pl

-1 nui bgre+u4 / 25
4218+ 0.0
-37.17 + 0.00

50 100

TP delay [ns]

TVC(c,b ch) (4, 5

T 915e+u4/25
4247+ 0.0
-36.05+ 0.00

TP delay [ns]

TVC(C, bch) (4,5,15

T nai syse+ud [ 25
4226+ 0.0
-35.82+ 0.00

TP delay [ns]



TVO(eb.ch)=(4,6,0) TVO(eb.eh)=(4,6,1) TVO(eb.ch)=(4,6,2) TVC(eb.eh)=(4,6,3)
A7 1 nui sove+ud / 25 AT 1 nuiLzole+ud [ 25 A7 1 nun sose+u4 / 25 AT 1 nuiLsyoe+ud [ 25
400, po 4181+ 0.0 4000, po 4173+ 0.0 4000, po 4193+ 0.0 4000 o, po 4201+ 0.0
pl -34.82+ 0.00 pl -34.45+ 0.00 F pl -34.48 + 0.00 pl -34.88+ 0.00

- 3000

3000 E 3000 [ - 3000 B

2000 1 2000 - — 2000 [~ E 2000

1000 ] wor C = 29.03 [ps/ch] ] ol ¢ = 29.00 [ps/ch] ]
% e : o ] % 4
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (46,4 TVC(cbch) (46, TVC(cbch) (46,6 TVC(c, bch) (46,

~ g :?boeﬂjd 125 4000 T 2/1&+04/25 “narg, I)lbe+U4 125 T nar 24/E+l)4/25
4000, pO 4193+ 0.0 pO 4190+ 0.0 4000 e, pO 4210 0.0 4000 e, pO 4200+ 0.0
pl 3532 0.00 Pl -35.65: 0.00 F Pl -36.29+ 0.00 Pl -35.15: 0.00
3000~ E 3000 - 3000[ 1 3000 E
2000~ E 2000 - 2000 ] 2000 [ -
o ] 1000 ] woor C = 27.55 [ps/ch ] woF C = 28.45 [ps/ch ]
I L5 oL I L= I =
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(4,6,8) TVC(eb,ch)=(4,6,9) TVC(eb.ch)=(4, 6, 10) TVC(e.heh)=(4,6, 11)
©1nuig.4uge+u4 | 25 Tonur111e+us /25 1 nuig.zyve+u4 | 25 ~ 1 nuiz.usse+u4 / 25
4000 f, PD 4214+ 0.0 4000 fo, DO 4233+ 0.0 4000 __- DO 4249+ 0.0 4000 o, pO 4237+ 0.0
pl -34.56 + 0.00 pl -34.44 1 0.00 r pl -35.63 + 0.00 pl -34.47 + 0.00

- 3000

3000 -1 3000 - N 3000 -

2000 B 2000 [ E 2000 2000

1000 1000[-

] woo C = 29.04 [ps/ch] wor C = 29.01 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

1
50 100

TVC(cbch) (4,6,12 TVC(C, bch) (4,6,13 TVC(cbch) (4,614 TVC(C, bch) (4,6,15

T L szse+u4 / 25 T nui p4se+ud [ 25 T i b3e+u4 / 25 TinuiLpl/e+ud /25
41000 o, PO 4234+ 0.0 4000 e, PO 4228+ 0.0 4000 - PD 4231+ 0.0 4000 po, PO 4237+ 0.0
pl -36.38 + 0.00 pl -36.33+ 0.00 r pl -36.74 + 0.00 pl -36.74+ 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (4,7,0 TVC(cbch) (4,7,1 TVC(cbch) (4,7,2) TVC(cbch) (4,7,3

A7 1 nui Ubye+ud / 25 AT 1 nuiLzoye+ud [ 25 K™ 1 nui isye+ud / 25 AT 1 nuiLsu4e+u4 [ 25
a0, po 4214+ 0.0 4000, po 4228+ 0.0 4000 m PO 4233+ 0.0 4000 fr, PO 4250 0.0
pL -35.1% 0.0 Pl -35.68+ 0.00 L pl -35.1% 0.0 Pl 35,62 0.00
3000 - 3000 — 3000 | - 3000 E
-
2000 E 2000 - 2000 ] 2000 E
- 1000 1 [~ _ ] 1000 7
1000 woo- C = 28.49 [ps/ch 1
- -
- ]
L L 1 Il 1 1
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,7,4 TVC(cbch) (47, TVC(cbch) (4,7,6 TVC(c, bch) (4.7,

LIS A)meﬂjd 125 T nar 2/[E+U4/25 “narg z)uuewd 125 T rnar 2&4be+l}4/25
4000 4245+ 0.0 4000 =, pO 4247+ 0.0 4000 fm pO 4246+ 0.0 4000 fr, pO 4253+ 0.0
-35.2+ 0.0 Pl -35.48% 0.00 [ Pl -35.72%0.00 Pl -35.43% 0.00
3000 ] 3000 - 3000 E 3000 4
2000 o 2000 - 2000~ . 2000 ]
1000 ] 1000 ] W C = 28.00 [ps/ch ] 1oF C = 28.23 [ps/ch ]
1 1 ! 1 1 bl 1 -
50 100 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (47,8 TVC(cbch) (47, TVC(cbch) (47,10 TVC(c, bch) (4,7,

) 9) ) 1)
T z.Zoe+u4 /25 T nu. 13be+u4 / 25 T 2.33e+04 /25 Tonanl/1e+u4 | 25
4000 B po 4223+ 0.0 4000 pO 4248+ 0.0 4000 e, po 4269+ 0.0 4000 o, p0 4261+ 0.0
pl -36.27 + 0.00 pl -36.55+ 0.00 r pl -36.33+ 0.00 pl -35.48 + 0.00

3000

1 3000 -1 3000 =1 3000 -

2000 B 2000 = 2000 2000

1000 -1 1000

T 1000 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(47l ) TVC(cbch)(4713) TVC(cbch)(47l ) TVC(cbch)(4715)
1L 5ove+u4 / 25 T nai syze+ud / 25 T gzoe+u4 [ 25 T nuignae+ud [ 25
4000 pO 4268+ 0.0 4000 pO 4278+ 00 4000 fomm PD 4271£ 00 4000 fam, pO 4274% 00
pl -35.73+ 0.00 pl -36.59 + 0.00 F pl -36.02+ 0.00 pl -36.27 + 0.00

- 3000

3000 1 3000 -1 3000 .

2000 - 2000 T 2000 E 2000

1000 ] 1000 T 1000 E 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(480) TVC(cbch)(481) TVC(cbch)(482) TVC(cbch)(483)
g zye+ud [ 25 “rnun g a4e+04 [ 25 A 1w 3uve+ud | 25 A1 nui 317e+U4 [ 25
4000 PO 4200+ 0.0 4000 po 4207+ 0.0 400, po 4212+ 0.0 4000 [ po 4212+ 0.0
pl -36.32:+ 0.00 pl -36.15+ 0.00 - pl -35.24 £ 0.00 pl -35.47+ 0.00
3000 E 3000 - 3000 ] 3000 E
2000 1 2000 — 2000 L ] 2000 B

1000 — 1000 1000

wol- C = 28,38 [ps/ch

_L 1 1 1 ] 1 |
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(CbCh) (4 8,4) TVC(CbCh) (4 8,5) TVC(CbCh) (4 8,6) TVC(CbCh) (4 8,7)
- 1L ys3e+ud / 25 -1 nui b4 se+u4 [ 25 -1z, 0oge+u4 / 25 Crnug 1z23e+04 / 25
by pO 4228+ 0.0 4000 =, pO 4219+ 0.0 4000 = pO 4230+ 0.0 4000 s pO 42431 0.0
pl 3561+ 0.00 Pl -35.17+0.00 L pl -34.71 0.00 Pl -35.28+ 0.00

3000 - 3000 - 3000 - -1

. 3000

2000 T 2000 - 2000 - 2000 -

1000 -1 1000 - 1000

] wor C = 28.34 [ps/ch .

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (4,8,8) TVC(c,b ch) (4.8,9) TVC(c,b, ch) (4,8,10) TVC(c,b ch) (4,811)
T nuiL5rye+ud / 25 - 1L gube+us / 25 ~ 1z, (5ye+u4 [ 25 ~ 1 gobe+u4 / 25
4000 fom pO 4226+ 0.0 4000 e, pO 4246+ 0.0 4000 [, DO 4266+ 0.0 4000 [ p0 4257+ 0.0
pl -35.72.+ 0.00 pL -35.74.+ 0.00 3 pl -35.93 + 0.00 pL -34.77 + 0.00
3000 - 3000 - 3000 . 3000 | -
2000 4 2000 - 2000} ] 2000 J

1000 . 1000 -1 1000

lo00r C = 28.76 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(481 ) TVC(cbch)(4813) TVC(cbch)(481 ) TVC(cbch)(4815)
T, (z4e+04 [ 25 T g3se+u4 [ 25 ~ i oyse+u4 [ 25 T bl4e+u4 [ 25
1000 o, pO 4223+ 0.0 4000 o, pO 4225+ 0.0 4000 o, PD 4228+ 0.0 4000 B, pO 2242+ 0.0
pl -34.98 + 0.00 pl -36.07 + 0.00 F -34.33+ 0.00 pl -36.03+ 0.00
3000 1 3000 N 3000 ] 3000 —
2000 - 2000 4 so0ok 1 2000 1

1000 1000 1000

1000:— C =29.13 [pS/Ch]

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




4000

3000

2000

1000

[ C =230.64 [ps/ch] ™.

TVC(c,b,ch)=(4,9,0)

' K1 9153/ 25
po 4184+ 0.0
p1 -32.64 + 0.00

L 1
50 100

TP delay [ns]

TVC(cbch) (49,4

4000

i L Use+u4 [ 25
o, po 4226+ 0.0
pl -33.23+ 0.00

3000 [~ 7
2000 - 7
1000~ C = 30.09 [pS/Ch] - 7]
= 00
TP delay [ns]
TVC(cbch) (4,9.8)
T nug 133e+U4 5
4000 [ pD 4205+ 0.0
pl -32.7+ 0.0
3000 - 71
2000~ 7]
0% C = 30.58 [ps/ch] ™. ]
) - o
TP delay [ns]
TVC(cbch) (4,9,12)
TinuiLp3ie+ud / 25
4000 fae, po 4253+ 0.0
pl -34.78 + 0.00
3000~ ]
2000 - ]
1000 ]

[ C =28.76 [ps/ch]

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,1)

S 7 wou7/25
E pO 4181+ 0.0
pL -32.65 % 0.00

[ C=230.63[ps/ch] ™_ 1]
L 1 %

TP delay [ns]

TVC(c,b ch) (4 9,5

-1 U3Be+u4 / 25
[, DO 4222+ 0.0
pl -32.77 + 0.00

[ C =30.52 [ps/ch] ™ 1]
50 150
TP delay [ns]

TVC(c,b ch) (4 9,9

T nug g43e+u4 / 25
= pO 4229+ 0.0
p1 -34.14 + 0.00

[ C =29.29 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (4, 9 13

T inaibzse+ud [ 25
- pO 4252+ 0.0
p1 343+ 0.0

[ C =29.15 [ps/ch]

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

RRALEDR 41)3e+04/25
4000 [, pO 4239+ 0.0
pL -32.74 % 0.00
3000~ ]
2000 L 7]
1000_—C =30.54 [pS/Ch] - 7]
- - 1
1 1
d 50 100

4000

3000
2000

1000

TVC(cbch) (4,9,2)

3000

o v1y3/25
Freea po 4197+ 0.0
[ pl -32.52 i:‘
r C 30.75 [ps/ch] ™= ]
50 10'0 -
TP delay [ns]
TVC(cbch) (4,9,6)
T nuiL1/ye+04 [ 25
- pO 4219:‘
[ pl -34.33+ 0.00
- C=29.13 [ps/ch™., 1

50 10'0
TP delay [ns]

TVC(eb,oh)=(4, 9, 10

TP delay [ns]

TVC(cbch) (4,9,14

- pD

1 nuiL plze+ud [ 25

pl -35.53+ 0.00

4263+ 0.0

TP delay [ns]
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3000
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1000
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,3)

x- 1 L Joae+ud | 25
po 4202 0.0
pL -32.87+ 0.00

[ C=30.42[ps/ch] ™
5 o
TP delay [ns]

TVC(c,b ch) (4 9,7

-1 nui 243e+04 / 25
- pO 4232+ 0.0
p1 -33.78+ 0.00

[ C=29.61[ps/ch] ~.

50 160
TP delay [ns]

TVC(c,b ch) (4, 9

T bb‘Je+U4/25
- pO 4232+ 0.0
p1 -32.93+ 0.00

[ C=30.37 [ps/ch] ™, 1
-+ o
TP delay [ns]

TVC(c,b ch) (4, 9 15

T inui s43e+04 / 25
b pO 4261+ 0.0
-34.38 + 0.00

[ C=29.09 [ps/ch]

PR R SRR |
50 100

TP delay [ns]
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3000
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1000
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2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (4, 10 0)

T ro1e+U4 /25
pO 4202+ 0.0
pl -35.99+ 0.00

TP delay [ns]

TVC(cbch) (4,104

-1 nuz,u9pe+ud / 25
pO 4234+ 0.0
p1 -36.84 + 0.00

e 4
% T
TP delay [ns]
TVC(c,b, ch) (4, 10 8

T rnug.14ze+04 | 25
po 4233+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (4,10,12

[ C =28.81 [ps/ch]

~rnuiLyyse+u4 / 25
pO 4245+ 0.0
-34.71+ 0.00

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,10,1)

AT 1 nuiLbs/e+u4 | 25
po 4204+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(c, bch) (4,10,5

-1 yzge+u4 [ 25
pO 4221+ 0.0
pL -36.68+ 0.00

TP delay [ns]

TVC(ebeh)=(4, 10,9

~ i nui zzge+us / 25
po 4269+ 0.0
p1 -38.46 + 0.00

TP delay [ns]

TVC(C, bch) (410,13

T nuiLysbe+ud / 25
pO 4259+ 0.0
pl -36.06 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(cbch) (4,10,2

AT 1 nuns1se+u4 /25
po 4212+ 0.0
pl -36.62+ 0.00

TP delay [ns]

TVC(cbch) (4,10,6

-1 ylge+ud / 25
pO 4235+ 0.0
pl -37.73+ 0.00

100
TP delay [ns]

TVC(cbch) (4, 10 10

T g, /11e+ud 1 25
po 4275+ 0.0
pl -37.5+ 0.0

TP delay [ns]

TVC(cbch) (410,14

~ L gose+u4 / 25
pD 4257+ 0.0
pl -35.42+ 0.00

TP delay [ns]
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3000
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1000
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,10,3)

AT 1L rore+ud [ 25
po 4217+ 0.0
p1 -35.94 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (4,10,7

S rnu32/e+04 /25
pO 4245 0.0
pL -37.26+ 0.00

100
TP delay [ns]

TVC(ehch)=(4, 10, 11

T nuig szae+04 25
pO 4286+ 0.0
pl -37.79+ 0.00

TP delay [ns]

TVC(cbch) (4,10,15

T onan 1 yge+ud [ 25
pO 4258+ 0.0
p1 -35.6 + 0.0

TP delay [ns]
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1000
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1000
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1000

4000
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2000

1000

TVC(CbCh) (4,11,0)

AT 1nui143e+04 /25
po 4174+ 0.0
p1 -34.82+ 0.00

TP delay [ns]

TVC(cbch) (4,114

- i b3be+u4 / 25
pO 4205+ 0.0
pl -36.25+ 0.00

e 4
% o
TP delay [ns]
TVC(c,b, ch) (4, 11 8

Truun1pye+ud /25
po 4210+ 0.0
pl -34.95+ 0.00

TP delay [ns]

TVC(cbch) (4,11, 12

K71 nui syoe+ud / 25
po 4227+ 0.0
pl -34.83+ 0.00

TP delay [ns]

4000

3000
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1000

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,11,1)

AT 1 nuiL1ive+ud /25
po 4174+ 0.0
pl -35.05+ 0.00

1
100

TP delay [ns]

TVC(cbch) (4,11,5

-1 nui blbe+u4 / 25
pO 4220 0.0
pL -36.52:+ 0.00

TP delay [ns]

TVC(eh.eh)=(4, 11, 9

T nugn13e+ud [ 25
po 4247+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(c, bch) (411,13

T nui zove+ud / 25
pO 4245+ 0.0
pl -35.98 + 0.00

TP delay [ns]
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1000

4000

3000

2000

4000
3000
2000

1000

TVC(CbCh) (4, 11 2)

T rnui14oe+U4 / 25
pO 4190+ 0.0
p1 -35.94+ 0.00

TP delay [ns]

TVC(cbch) (4116

“ LB /4e+04 [ 25
pO 4217+ 0.0
pl -36.12+ 0.00

10‘0
TP delay [ns]

TVC(e.bch)=(4, 11, 10

1000

0

T 3rze+04 | 25
po 4252+ 0.0
pl -36.83 + 0.00

TP delay [ns]

TVC(cbch) (4,11, 14

X™ 1L b1ze+04 [ 25
po 4246+ 0.0
pl -35.93+ 0.00

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (4,11,3)

AT rnuiL143e+U4 /25
po 4203+ 0.0
pl -35.76 + 0.00

1
100

TP delay [ns]

TVC(cbch) (4,11,7

- 11 bbae+u4 / 25
pO 4226+ 0.0
pL -35.91% 0.00

1(;0
TP delay [ns]

TVC(cbch) (4, 11 11

<1 nuiL byye+ud / 25
po 4262+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c, bch) (411,15

T nuiqzae+ud [ 25
pO 4236+ 0.0
p1 -35.77 + 0.00

TP delay [ns]
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1000

4000
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1000

TVC(CbCh) (4,12,0)

1 nuz1ve+ud [ 25

e p; " 4199+ 0.0
[ C=29.20 [ps/ch]N,_ 7
&+ e
TP delay [ns]
TVC(c,b ch) (4, 12 4
T Ui 335e+04 / 25

4207+ 0.0
-34.6+ 0.0

2]

50 10‘0
TP delay [ns]

TVC(cbch) (4, 12 8

== pD

1 nuiL ys3e+ud | 25

p1 -34.74 £ 0.00

4228+ 0.0

TP delay [ns]

TVC(cbch) (412,12

1 nuiLquge+ud | 25

b, po 4217+ 0.0
p1 34+ 0.0

[ C =29.41 [ps/ch]

PR B SRS |
50 100

TP delay [ns]
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1000
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1000

4000
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1000

4000
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2000

1000

TVC(chh) (4,12,1)

ase po

AT 1 nunLsuse+ud [ 25
4203+ 0.0
p1 -34.89+ 0.00

1 1
50 100

TP delay

TVC(c, bch) (4,125

[ns]

- 1nui 4] re+u4 [ 25
4220+ 0.0
pl -35.03+ 0.00

TP delay

TVC(c, bch) (4,12,9

e, po

[ns]

<1 nuig.ysbe+ud 25
4229+ 0.0
pl -33.49 + 0.00

[ C =29.86 [ps/ch] ™

1
50 100

TP delay

TVC(C, bch) (412,13

- pO
p1

[ns]

T inai s14e+u4 / 25
4213+ 0.0
-34.7+ 0.0

TP delay

[ns]
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1000
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1000

4000
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1000

TVC(CbCh) (4,12,2)

Faase, po

AT 1nuis10e+04 /25
4225+ 0.0
pl -36.19+ 0.00

TP delay

TVC(cbch) (4.12,6

- P°

p1

[ns]

- rnubble+ud [ 25
4224+ 0.0
-35.67 + 0.00

TP delay

TVC(epeh)=(4, 12, 10

- b

[ns]

T bz (e+u4 [ 25
4262+ 0.0
-34.31+ 0.00

- C =29.15 [ps/ch]

[ 1
0 50 100

TP delay

TVC(cbch) (412,14

- pD

[ns]

T nuiLpLoe+u4 / 25
4219+ 0.0
pl -35.53+ 0.00

TP delay

[ns]

TVC(Cbch) (4,12,3)

AT 1 nun Laoe+ud [ 25
4223+ 0.0
pl -36.27 + 0.00

4000 [u

po

3000

2000

1000

TP delay

TVC(c, bch) (4,12,7

nun 1,7

4000 fum pO

[ns]

- 2e+04 [ 25
4240+ 0.0
pl -35.22+ 0.00

3000 -

2000 -

woor C =28.39 [ps/ch

TP delay

TVC(c, bch) (4, 12 11

4000 frm po

pl

[ns]

-1 nui ysoe+ud [ 25
4254+ 0.0
-34.17 + 0.00

3000 -

2000 -

lo00r C = 29.27 [ps/ch]

1
50 100

TP delay

TVC(cbch) (4,12,15

4000 [u.

[ns]

Tonan g aze+ud | 25
4222+ 0.0
p1 -34.62 + 0.00
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1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 13 0)

T zuse+ud [ 25
- pO 4205+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (4,134

- S2 (e+04 ] 25
e pO 4214+ 0.0
pl -36.38:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 13 8

1 nuzpgae+u4 | 25
- po 4232+ 0.0
pl -35.43+ 0.00

TP delay [ns]

TVC(cbch) (4,13,12

T i pzoe+u4 / 25
= po 4238+ 0.0
pl -35.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,13,1)

AT 1nunz10e+u4 [ 25
- po 4213+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(c, bch) (4,135

-1 nui4n1e+04 / 25
pO 4233+ 0.0
pL -36.56 + 0.00

TP delay [ns]

TVCebeh)=(4, 13,9

T nuy.10ze+u4 / 25
- pO 4245+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(C, bch) (413,13

T 1 nui syoe+ud | 25
- pO 4234+ 0.0
pl -35.48 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(CbCh) (4, 13 2)

Tz srze+04 /25
Freee, pO 4201+ 0.0
i p1 -35.44.+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,136

- nunL313e+04 / 25
- pO 4205+ 0.0
[ pl -34.99+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 13 10

1000

0

T nugbr3e+u4 [ 25
-, po 4279+ 0.0
- pl -37.3+ 0.0

3000

TP delay [ns]

TVC(cbch) (4,13, 14

~nuiL4zve+u4 [ 25
- pD 4243+ 0.0
L pl -35.44 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,13,3)

[ C=29.11 [ps/ch]

AT rnuzsare+ud [ 25
po 4202+ 0.0
p1 -34.36 + 0.00

L
50 100

TP delay [ns]

TVC(c, bch) (4,137

-1 nui bage+u4d [ 25
- pO 4218+ 0.0
pL -35.57+ 0.00

TP delay [ns]

TVC(ebeh)=(4, 13, 11

T nuizproe+u4 [ 25
- po 4270+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (4,13,15

T nui aose+ud [ 25
= po 4248+ 0.0
p1 -36.27 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 14 0)

T rnuLs41e+04 /25
- pO 4206+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (4,144

= nui155e+04 / 25
e, pO 4206+ 0.0
pl -35.89+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 14 8

1 nuizyoge+u4 | 25
= pO 4211+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (414,12

T yse+ud /25
= po 4242+ 0.0
pl -35.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,14,1)

e, po

p1

AT 1 nuiLzs4e+u4 [ 25
4200+ 0.0
-35.94 + 0.00

TP delay [ns]

TVC(c, bch) (4,145

-1 nu zzve+u4 [ 25
4197+ 0.0
-35.87 + 0.00

TP delay [ns]

TVC(c, bch) (4,14,9

e, po

pl

T nai g oe+ud [ 25
4232+ 0.0
-35.46 + 0.00

TP delay [ns]

TVC(C, bch) (414,13

T nuivb3e+ud / 25
4247+ 0.0
-36.62+ 0.00

TP delay [ns]

TVC(CbCh) (4,14,2)

4000, po

pl

3000~

2000 -

wol- C = 28.23 [ps/ch

X~ 1 411e+04 /25
4225+ 0.0
-35.43+ 0.00

1
50 100

TP delay

TVC(cbch) (4,146

4000 [, pO

[ns]

S i 118e+u4 [ 25
4226+ 0.0
pl -36.25+ 0.00

3000 =

2000~

wof C = 27.59 [ps/ch

TP delay

TVC(cbch) (4,14, 10

T nuzgs3e+u4 [ 25
4252+ 0.0
pl -35.49 + 0.00

4000 [

pO

[ns]

3000
2000

1000

TP delay

TVC(CbCh) (4, 14 14

4000

[ns]

T r15e+04 / 25
4227+ 0.0
-35.3+ 0.0

3000
2000

1000

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,14,3)

AT 1 nuiL430e+u4 [ 25
4231+ 0.0
pl -36.56 + 0.00

po

TP delay

TVC(c, bch) (4,14,7

[ns]

- nun 333e+04 / 25
4213+ 0.0
-35.2+ 0.0

TP delay

TVC(c, bch) (4, 14 11

= pO

[ns]

-1 nuiz.yyoe+ud 25
4258+ 0.0
pl -35.86 + 0.00

TP delay

TVC(cbch) (4,14,15

[ns]

T nui szoe+ud [ 25
4238+ 0.0
p1 -35.76 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (4, 15 0)

T ys1e+u4 [ 25
4244+ 0.0
-34.69 + 0.00

C =28.82 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (4,154

-1 nuz,usze+ud [ 25
4212+ 0.0
-36.3+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (4, 15 8

~nuiLylve+u4 / 25
= po 4223+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(cbch) (4,15, 12

T rnuizgule+ud / 25
- po 4258+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,15,1)

AT 1 nuiLyooe+ud [ 25
oaee po 4229+ 0.0
p1 -34.11+ 0.00

[ C =29.32 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c, bch) (4,155

-1 yzge+u4 [ 25
F po 4220+ 0.0
pL -36.88+ 0.00

TP delay [ns]

TVC(c, bch) (4, 15 9

~inai ble+ud / 25
= po 4233+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(C, bch) (415,13

Tinui ole+ud / 25
pO 4272+ 0.0
p1 -36.6 + 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(CbCh) (4,15,2)

TP delay [ns]

TVC(cbch) (4,156

1000

A7 1 nuiz.uuoe+ud / 25
_-_ po 4254+ 0.0
r Pl -36.42% 0.00

3000

- nug112e+04 / 25
- pO 4226+ 0.0
[ pl -36.67 + 0.00

TP delay [ns]

TVC(cbch) (4, 15 10

T g le+u4 /25
- po 4254+ 0.0
- pl -35.64 + 0.00

TP delay [ns]

TVC(cbch) (415,14

T o3e+u4 / 25
pD 4268+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,15,3)

po 4266+ 0.0
pl -35.23+ 0.00

AT 1 nuz.zaoe+ud [ 25

TP delay [ns]

TVC(c, bch) (4,157

pl -36.01+ 0.00

o, pO

-1 nui yave+u4 / 25
4232+ 0.0

50 1(;0
TP delay [ns]

TVC(ehch)=(4 15, 11
e, po

pl -36.12+ 0.00

1nuz.341e+04 /25
4264 £ 0.0

TP delay [ns]

TVC(cbch) (4,15,15

o, pO 4254+ 0.0
pL -35.36+ 0.00

1L, rove+u4 [ 25

TP delay [ns]



TVE(ED.ch)=(5,0,0) TVE(EDCh)=(5,0, 1) TVE(ED.Ch)=(5,0,2) TVE(EDe)=(5,0,3)
AT 1 zz4e+04 [ 25 AT z13e+ud | 25 AT 1 nuig 1uve+ud [ 25 AT 3zye+ud | 25
4000 po 4204+ 0.0 400 po 4206+ 0.0 4000, po 4216+ 0.0 4000 [ po 4223+ 0.0
pl -36.3+ 0.0 pl -35.99 + 0.00 F pl -35.79+ 0.00 pl -35.64 + 0.00

3000

N 3000 =1 3000 - 3000 -

2000 -1 2000 -1 2000 - 2000

1000 — 1000 - 1000 u 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (5.0,4) TVC(cbch) (5.0,5) TVC(cbch) (5.0,6) TVC(cbch) (5.0,7)
- 1 nuiLu4pe+u4 / 25 - nun zz1e+04 [ 25 Srnun131e+04 /25 - nui 2y/e+u4 [ 25
4000, pO 4220+ 0.0 4000 pO 42354 0.0 4000 e, pO 4245+ 0.0 4000 e pO 4244+ 0.0
Pl 3576+ 0.00 -36.69+ 0.00 L pl -36.19+ 0.00 Pl -36.36% 0.00
3000 [ - 3000 E a000- ] 3000 -
2000 ] 2000 E 2000 . 2000 B
R [ ]
o} ¢ ] 1000 ] wol C = 27.63 [ps/ch . wof © ]
1 1 - 1 1 ™ 1 1 el 1 1 -
50 00 50 100 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (50,8) TVC(c,b ch) (5.0,9) TVC(c,b, ch) (5,0,10) TVC(c,b ch) (50,11)
~nuiLb1be+u4 / 25 T zble+u4 [ 25 T nuiLs0/e+u4 /25 - 1 bpbe+u4 / 25
4000 e, pO 4229+ 0.0 4000 e, pO 4259+ 0.0 4000 [, DO 4256+ 0.0 4000 [l p0 4267+ 0.0
PL 3659+ 0.00 pL -36.91+ 0.00 L pl 3518+ 0.00 Pl -36.28+ 0.00

3000 B 3000 — 3000 4 3000

2000 - 2000 2000[- 2000

1000 -1 1000 1000

1000

0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(SOl ) TVC(cbch)(5013) TVC(Cbch)(501 ) TVC(cbch)(5015)
Tinug,1zze+u4 [ 25 T g zoye+u4 [ 25 ~ 1 nuig, 1ose+ud / 25 T4 /8e+U4 [ 25
4000 [ pO 4231+ 0.0 4000 [ pO 4230+ 0.0 4000 [, PD 4227 0.0 4000 e, pO 423400
pl -35.42+ 0.00 pl -35.72+ 0.00 r pl -35.64 + 0.00 pl -35.46 + 0.00

3000 -1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 -1 2000

1000 -1 1000 1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,1,0

A~ nui 1zae+04 /25
P po 4205+ 0.0
p1 -36.33+ 0.00

TP delay [ns]

TVC(cbch) (51,4

“ L0 r5e+u4 / 25
P pO 4194+ 0.0
p1 -34.48+ 0.00

50 5
TP delay [ns]

TVC(cbch) (5 1,8

T L 483e+04 / 25
- po 4233+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(Cbch) (5, l 12

a1 Jve+ud [ 25
= po 4212+ 0.0
p1 -33.94 + 0.00

[ C =29.47 [ps/ch]

P BN |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.1,1

AT 1nuiLZrse+ud [ 25
s po 4199+ 0.0
pl -35.2+ 0.0

1 1
50 100

TP delay [ns]

TVC(cbch) (5.1,5

Sona 7 ygs7/25
E 4202+ 0.0
-33.78 + 0.00

[ C =29.60 [ps/ch] ]

50 105
TP delay [ns]

TVC(c,b ch) (5 1,9

- /s buve+Ud [ 25
e, pO 4244+ 0.0
pL -36.24 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, l 13

T nai149e+u4 /25
feee. 4228+ 0.0
-34.55+ 0.00

[ C =28.94 [ps/ch] ]

P R TR |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (5.1,2)

TP delay [ns]

TVC(cbch) (5.1,6

T zie+ud /25
_l'_ pO 4224+ 0.0
o pl -36.41+ 0.00

3000

- C = 30.76 [ps/ch] ™. 1

50 56
TP delay [ns]

TVC(eb,oh)=(5, 1, 10

T L0 rze+u4 /25
- pO 4203+ 0.0
[ p1 -32.51+ 0.00

3000

T z44e+04 /25
- po 4254+ 0.0
[ p1 -35.01+ 0.00

TP delay [ns]

TVC(cbch) (51,14

T L zoge+u4 [ 25
F- pD 4209+ 0.0
L pl -33.91+ 0.00

- C = 29.49 [ps/ch]

P R TR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.1,3

A 1L Suae+ud | 25
B po 4220+ 0.0
pL -35.4+ 0.0

TP delay [ns]

TVC(c,b ch) (5 1,7

- nui 143e+04 / 25
- pO 4206+ 0.0
p1 -32.81% 0.00

[ C=30.48 [ps/ch] ™ 1]
55 o
TP delay [ns]

TVC(c,b ch) (5, l

T b41e+u4/25
- po 4250+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 1 15

Tonuizo/e+ud [ 25
=3 4213+ 0.0
-34.42+ 0.00

[ C =29.06 [ps/ch] ]

P B TR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,2,0

AT 1nui14ze+04 /25
pee.,. po 4179+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (524

- i b11e+u4 / 25
- pO 4202+ 0.0
pl -36.35:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 2,8

T, 41e+04 /25
= po 4198+ 0.0
pl -35.48 + 0.00

TP delay [ns]

TVC(cbch) (5,2, 12

T L pye+ud /25
= po 4221+ 0.0
pl -36.85+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (52,1

AT rnuan1sze+ud [ 25
. po 4179+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(c,b ch) (5 2,5

=1 nui bu3e+us / 25
pO 4196+ 0.0
pL -35.68+ 0.00

TP delay [ns]

TVC(c,b ch) (5 2,9

~ 1 nu. 3bve+ud / 25
po 4231+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(C, bch) (52,13

TinuiLas/e+ud [ 25
pO 4207+ 0.0
pl -36.08 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

TVC(cbch) (5.2,2)

T g zoe+ud /25
o=, pO 4188+ 0.0
L p1 -36.51+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.2,6

- 1L bloe+ud / 25
- pO 4208+ 0.0
[ pl -36.61+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 2 10

1000

©1nuiz.a8oe+u4 | 25
= po 4242+ 0.0
o pl -36.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.2 14

1000

T s1se+u4 [ 25
= pD 4213+ 0.0
L p1 -35.94 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,2,3

AT 1 nuiLzooe+ud [ 25
oes, po 4205+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (5 2,7

-1 nu bage+u4 [ 25
- pO 4217+ 0.0
pL -35.96+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 2

EEALEVX U':ue+l]4/25
e pO 4246+ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(C, bch) (52,15

T nuiasze+ud [ 25
e pO 4207+ 0.0
p1 -35.28 + 0.00

TP delay [ns]



TVC(cbch) (5,3,0

4000 [

X~ g usse+ud [ 25
., po 4171+ 0.0
pl -35.02 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (53,4

4000

- 1 Zobe+04 | 25
', pO 4184+ 0.0
pl -36.17 £ 0.00

3000 - 7
2000 - 7
1000~ C 7
O 5(') 10'0 =
TP delay [ns]
TVC(c,b ch) (5, 3 8
4000

3000

2000

1000

0

T nuig.gaze+04 [ 25
4218+ 0.0
-36.7 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5,312

4000 [

3000

2000

1000

T rnuiLploe+ud / 25
pO 4229+ 0.0
pl -36.86 + 0.00

-
TR

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,31

AT 1 nug.usze+ud [ 25
pese,, po 4170+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(c,b ch) (5 3,5

=1 i bbae+u4 [ 25
e, pO 4189+ 0.0
pL -36.76+ 0.00

TP delay [ns]

TVC(c,b ch) (5 3,9

<1 nuiL yzae+us / 25
= pO 4226+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(C, bch) (53,13

T inai ruse+ud / 25
- pO 4217+ 0.0
pl -36.77 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

4000

2000

1000

TVC(cbch) (5,3,2)

X~ 1 g goze+u4 [ 25
" po 4191+ 0.0
L p1 -36.34+ 0.00

3000

TP delay [ns]

TVC(cbch) (53,6

1000

-1 nuiL395e+04 / 25
- pO 4222+ 0.0
[ pl -37.02 0.00

3000

TP delay [ns]

TVC(cbch) (5, 3 10

1000

0

T rnugUsle+u4 / 25
==, po 4237+ 0.0
o pl -37.03+ 0.00

3000

TP delay [ns]

TVC(cbch) (5,3 14

T ure+u4 [ 25
- pD 4225+ 0.0
[ p1 -37.23+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,3,3

AT 1 nuis.byoe+ud [ 25
- po 4189+ 0.0
pl -34.67 + 0.00

TP delay [ns]

TVC(c,b ch) (5 3,7

- nun gBe+u4 / 25
- pO 4213+ 0.0
pL -35.93+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 3

EEALEVX u91e+u4/25
- pO 4247+ 0.0
pl -36.34+ 0.00

TP delay [ns]

TVC(C, bch) (53,15

T nai roze+ud [ 25
- pO 4234+ 0.0
p1 -37.13+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,4,0)

A7 1 nun osze+u4 /25
po 4172+ 0.0
p1 356+ 0.0

TP delay [ns]

TVC(cbch) (54,4

= 1 i b8be+u4 / 25
pO 4201% 0.0
pl -36.88:+ 0.00

C=27.12 [psl/c ]
% =
TP delay [ns]
TVC(cbch) (5 4,8

T 1nuzb43e+04 [ 25
PD 4236+ 0.0
pl -37.62+ 0.00

TP delay [ns]

TVC(cbch) (5,4, 12

T L gzoe+u4 / 25
pO 4214+ 0.0
pl -34.79+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (54,1

x- 1 L dsoe+ud | 25
. po 4171+ 0.0
pL -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (5 4,5

- UL 74re+04 [ 25
", DU 4215+ 0.0
pl -37.76 + 0.00

TP delay [ns]

TVC(c,b ch) (5 4,9

T nai g rge+u4 [ 25
po 4250+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(C, bch) (54,13

T inui oy /e+ud [ 25
pO 4227+ 0.0
pl -35.44+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

1000

1000

1000

TVC(cbch) (5.4,2)

T Lore+ud /25
pO 4198+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(cbch) (54,6

-1 nunLBuYe+ud / 25
pO 4215+ 0.0
pl -37.66 + 0.00

100
TP delay [ns]

TVC(cbch) (5, 4 10

© 1 nuig.ubge+u4 / 25
po 4257+ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(cbch) (54,14

- C = 29.03 [ps/ch]

T rnuiLgure+u4 [ 25
pD 4219+ 0.0
-34.45+ 0.00

50

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.4,3)

T/ Lbye+ud /25
P pO 4204+ 0.0
pl -36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (5 4,7

-1 nui 843e+u4 / 25
- pO 4212+ 0.0
pL -36.73+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 4

EEALEVX u49e+u4/25
= pO 4264+ 0.0
p1 -37.43+ 0.00

TP delay [ns]

TVC(C, bch) (54,15

Tinuiaroe+u4 /25
- po 4219+ 0.0
p1 -35.12+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,5,0)

A7 1 nui zoae+U4 / 25
4183+ 0.0
-36.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (55,4

-1 zz4e+04 [ 25
- pO 4186+ 0.0
p1 -36.72:+ 0.00

TP delay [ns]

TVC(cbch) (5 58

T, ryre+u4 [ 25
= po 4238+ 0.0
pl -37.32+ 0.00

TP delay [ns]

TVC(cbch) (55,12

T L s3pe+u4 / 25
= po 4229+ 0.0
pl -35.24+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5, 1

AT 1 nuiLsove+ud [ 25
- po 4190+ 0.0
pl -37.85+ 0.00

TP delay [ns]

TVC(c,b ch) (5 55

-1 nui 2yle+u4 / 25
- pO 4190+ 0.0
pL -36.86+ 0.00

TP delay [ns]

TVC(c,b ch) (5 59

T nu.pz1e+u4 / 25
- pO 4264+ 0.0
pl -37.32+ 0.00

TP delay [ns]

TVC(C, bch) (5,5,13

T 1 nuiLzyve+ud 25
= pO 4228+ 0.0
pl -34.64 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (5,5,2)

T Lsse+ud /25
" pO 4203+ 0.0
L pl -36.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (5,56

- b15e+04 / 25
- pO 4202+ 0.0
[ pl -36.14 + 0.00

3000

TP delay [ns]

TVC(cbch) (5, 5 10

1000

0

T 1nuz345e+04 | 25
-, po 4269+ 0.0
- pl -36.98 + 0.00

3000

TP delay [ns]

TVC(cbch) (55,14

~1nuiL4zoe+04 / 25
. pD 4240+ 0.0
L pl -35.88+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,3

AT rnuaiLsize+ud [ 25
poee, po 4208+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (5 57

-1 nui b3le+u4 / 25
e, pO 4206+ 0.0
pL -36.07+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 5

T aqbe+u4/25
- po 4265+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(C, bch) (5,5,15

T nuis1ve+ud /25
= po 4229+ 0.0
p1 -34.89+ 0.00

TP delay [ns]



TVC(cbch)(560) TVC(cbch)(561) TVC(cbch)(562) TVC(cbch)(563)
A” 11 450e+04 / 25 A1 al/e+ud | 25 A” 1L 448e+04 | 25 AT 1 3ube+ud | 25
4000 =’I PO 4181+ 0.0 4000 - po 4197 + 0.0 4000 _= - po 4210+ 0.0 4000 -- po 4213+ 0.0
pl -37.54 + 0.00 pl -38.23+ 0.00 : pl -38.32+ 0.00 pl -37.71+ 0.00

3000

1 3000 -1 3000 -1 3000

e 4
2000 N 2000 -1 2000 -1 2000

1000 - 1000 =1 1000 =1 1000

0 50 oo 0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (5.6.4) TVC(cbch) (5.6,5) TVC(cbch) (5.6,6) TVC(cbch) (5.6,7)
-1z 48ze+04 | 25 -1 nu.babe+u4 [ 25 - rnuzb3ze+u4 [ 25 -1 nui B4aye+u4 / 25
4000 e, pO 41951 0.0 4000 fom, pO 4188+ 0.0 4000 e, pO 4195+ 0.0 4000 4205+ 0.0
pl -37.05+ 0.00 pL -37+ 0.0 [ pl 37+ 0.0 -36.3+ 0.0
3000 - 3000 =1 3000 :— —: 3000 -
2000 - E 2000 |- - 2000 — — 2000 E
wol C = 26.99 [ps/c . wol C = 27.02 [ps/c . wol C = 27.02 [ps/c . 1000 .
0 EY 00 = 0 5 T - of EY 0 = 0 5 T =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (5.6,8) TVC(c,b ch) (5.6,9) TVC(c,b, ch) (5.6,10) TVC(c,b ch) (56,11)
©1nuz,uzze+u4 | 25 -1y bybe+u4 [ 25 ~ 1 a2 boge+ud / 25 T y1/e+u4 /25
4000 = pO 4216+ 0.0 4000 pO 4224+ 0.0 4000 pO 4242+ 0.0 4000, p0 4245+ 0.0
pl 36+ 0.0 pL -36.09+ 0.00 [ pl -36.72:+ 0.00 pL -35.99  0.00

3000 -1 3000 - 3000 N 3000 T

2000 -1 2000 -1 2000 1 2000

1000 -1 1000 - 1000 N 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(561 ) TVC(cbch)(5613) TVC(cbch)(5614) TVC(cbch)(5615)
© i psze+u4 | 25 T nui ozve+ud / 25 T rre+ud /25 T nui osse+ud / 25
4000 PO 4233+ 0.0 4000 g, PO 4221+ 0.0 4000 ._- PD 4211+ 0.0 4000 PO 4229+ 0.0
p1 -36.08 + 0.00 p1 -36.13 + 0.00 r pl -35.73+ 0.00 pl -35.85 + 0.00

3000 -1 3000 - 3000 N 3000 T

2000 -1 2000 - 2000 -1 2000

1000 -1 1000 T 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,7,0)

AT inuiasie+u4 /25
4199+ 0.0
-36.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.7,4

Trnan11/e+u4 /25
[, pO 4211+ 0.0
pl -36.93 + 0.00

TP delay [ns]

TVC(cbch) (5 7,8

©1nuig, love+u4 / 25
- PD 4224+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (57,12

T rnuiLgo1e+04 /25
4249+ 0.0
-35.61+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (57,1

AL aroerud | 25
[, PO 4212+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (57,5

Trna y312/25
- DU 4214+ 0.0
Pl -36.17% 000

TP delay [ns]

TVC(c,b ch) (5 7,9

~ b, U3be+u4 / 25
= pO 4256+ 0.0
pL -36.32:+ 0.00

TP delay [ns]

TVC(C, bch) (5.7,13

T zs1e+u4 [ 25
= pO 4253+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

4000
3000
2000

1000

TVC(cbch) (5,7,2)

X~ 1w osve+U4 [ 25
- po 4205 0.0
3 Pl -36.23% 0.00

3000

TP delay [ns]

TVC(cbch) (57,6

1000

T 1nuiL433e+04 [ 25
- pO 4218+ 0.0
I pl -36.24 + 0.00

3000

TP delay [ns]

TVC(cbch) (5, 7 10

1000

© 1 nu.a89e+04 / 25
- DO 4253+ 0.0
I pl -35.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (57,14

T z3ye+ud [ 25
PD 4253+ 0.0
pl -35.33 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,7,3

AT 1 nuiLb41e+U4 /25
- po 4224+ 0.0
pL -36.3+ 0.0

TP delay [ns]

TVC(c,b ch) (5 7,7

-1 nui 3n3e+04 / 25
- PO 4230+ 0.0
Pl -35.16+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 7

SRR 9/4e+u4/25
- pO 4255+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(C, bch) (57,15

T 37oe+04 [ 25
- pO 4253+ 0.0
pl -35.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5, 8,0)

T LAl yoy6 /25
[, po 4212+ 0.0
pl -34.98  0.00

TP delay [ns]

TVC(cbch) (58,4

Tnu B89 / 25
- pO 4192+ 0.0
pl -34.71+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 8,8

T rnug.1yle+u4 / 25
4222+ 0.0
-35.8+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5,812

-y ve+ud [ 25
[ po 4262+ 0.0
pl -35.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.81)

o Luserud 25
[, pO 4196+ 0.0
pl -34.94 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,5

~ 1 nuiLUabe+u4 / 25
o pO 4196+ 0.0
pL -36.18+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,9

T nun gyle+u4 [ 25
. pO 4250+ 0.0
pL -36.73+ 0.00

TP delay [ns]

TVC(C, bch) (5,813

T zyre+u4 [ 25
= po 4267+ 0.0
-36.31+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,2)

X~ 1L usyve+U4 /25
- po 4199 0.0
I pl -35.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (58,6

- i 1b4e+04 / 25
- pO 4220+ 0.0
3 pl -35.49 % 0.00

TP delay [ns]

TVC(cbch) (5, 8 10

©1nuz, 150e+04 / 25
- DO 4262+ 00
I pl -35.74 + 0.00

TP delay [ns]

TVC(cbch) (5,814

~ 1 nuiLguze+ud [ 25
- po 4248+ 0.0
L -34.46 + 0.00

- C = 29.02 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,3)

A7 1 nuiLUsbe+u4 / 25
PO 4228+ 0.0
p1 -36.2 % 0.0

TP delay [ns]

TVC(c,b ch) (5 8,7

- nun Z1ze+04 / 25
PO 42141 0.0
pL -35.08 + 0.00

TVC(c,b ch) (5, 8

TP delay [ns]

T rnung, /z:ze+u4/25
pO 4275+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(C, bch) (5,815

Ty 1e+u4 /25
pO 4238+ 0.0
pl -34.85+ 0.00

TP delay [ns]



TVC(ehe)=(5,9,0) TVC(Ebe)=(5,9,1) TVC(ehe)=(5,9,2) TVC(ehe)=(5,9,3)
TonuiL lioe+ud / 25 A7 1 nuiLUYbe+U4 / 25 TonanLase+ud [ 25 AT 1 nuiL Zsse+u4 | 25
4000 fe, po 4229+ 0.0 4000 fmm,, po 4228+ 0.0 4000 fm, po 4232+ 0.0 4000 e, po 4252+ 0.0
Pl -36.49 0.00 pl -36.61+ 0.00 [ pl -36.8% 0.0 pl  -37.06% 0.00

3000

-1 3000 =1 3000 =1 3000 -1

2000 - 2000 =1 2000 =1 2000

1000 - 1000 =1 1000 =1 1000

0, 0, 0,
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (5.9,4) TVC(cbch) (5.9.5) TVC(cbch) (5.9,6) TVC(cbch) (5.9.7)
- rnunL181e+u4 / 25 - 1nuiL 0y /e+u4 [ 25 - i 3p3e+04 / 25 -1 nui 414e+04 / 25
4000 e pO 42141 00 4000 pO 4222+ 0.0 4000 fe, pO 4243+ 0.0 4000 e, pO 4250+ 0.0
pl -36.42:+ 0.00 pL -35.91% 0.00 3 pl -37.28+ 0.00 pL -37.15+ 0.00
3000 [ B 3000 [ — 3000 — — 3000 B
2000~ B 2000 [ E 2000 — — 2000 [ e
1000 C - 1000 C - moo:—c = 26.83 [pS/Ch — 1000 C -
0 EY o 5 T = 0 EY 0 =1 0 5 0o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (5.9,8) TVC(c,b ch) (5.9,9) TVC(c,b, ch) (5,9,10) TVC(c,b ch) (59,11)
T nu.zole+u4 [ 25 <1 1ub,yube+u4 / 25 Tnu3ize+04 [ 25 T i grbe+u4 /25
4000 pO 4218+ 0.0 4000 4238+ 0.0 4000 o DO 4239+ 0.0 4000 o, p0 4247+ 0.0
pl -34.89+ 0.00 -34.38+ 0.00 L pl -33.53 0.00 pL -34.41% 0.00
3000 B 3000 - 3000 ] 3000 E
2000 N 2000 |- E 2000 [ ] 2000 - B
] wof C = 29.08 [ps/ch]™, ] 0k C = 29,82 [ps/ch] ., ] w0k C = 29.06 [ps/ch]™, 7
1 1 - [ 1 1 ~- E 1 1 "
50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(591 ) TVC(cbch)(5913) TVC(cbch)(591 ) TVC(cbch)(5915)
TinuiLg1ze+u4 /25 Tz re+u4 /25 T zose+ud [ 25 T 3aze+04 [ 25
4000 pO 4243+ 0.0 4000 e, pO 42441 0.0 4000 . 4228+ 0.0 4000 o, pO 4248+ 0.0
pl -35.83+ 0.00 pl -36.09 + 0.00 r -34.07 £ 0.00 pl -35.38+ 0.00
3000 e 3000 1 3000} ] 3000 E
2000 E 2000 — 2000 ] 2000 E
1000 E 1000 1 r 1 ]
wor- C = 29.35 [ps/ch] ™, 1000
. e ]
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 10 0)

= pO

T rnwLus/e+u4 [ 25
4159+ 0.0
pl -35.16+ 0.00

TP delay

TVC(cbch) (5.10,4

pO

[ns]

T Ly /se+u4 / 25
4212+ 0.0
pl -35.14 + 0.00

TP delay

TVC(cbch) (5, 10 8

[ns]

T, 1zoe+u4 | 25
4219+ 0.0
pl -36.26 + 0.00

TP delay

TVC(cbch) (5,10, 12

[ns]

T rnuiL4o/e+u4 /25
4247+ 0.0
-36.4+ 0.0

PR B SRS |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,10,1)

=, po

AT 1 nuiL1ioe+ud /25
4185+ 0.0
-35.01+ 0.00

p1

TP delay [ns]

TVC(c, bch) (5,10,5

-/ nui191e+u4 / 25
4205+ 0.0
-34.95+ 0.00

TP delay [ns]

TVC(c, bch) (5,10,9

X~ g

== po
pl

Voe+ud / 25
4240+ 0.0
-36.28 + 0.00

TP delay [ns]

TVC(cbch) (510,13

pO
p1

T nuib1ye+ud [ 25
4257+ 0.0
-35.93+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000
3000
2000

1000

1000

TVC(CbCh) (5,10,2)

b, po

X~ 1 Lure+ud [ 25
4179+ 0.0
p1 -34.79+ 0.00

TP delay

TVC(cbch) (5.10,6

[ns]

- rnuiL41ze+04 [ 25
4227+ 0.0
pl -36.43 + 0.00

- pO
L C = 27.45 [ps/ch .
5(') 10'0 =
TP delay [ns]

TVC(cbch) (5, 10 10

1000

0

= o

T 1ze+04 [ 25
4265+ 0.0
pl -37.17 + 0.00

TP delay

TVC(cbch) (5.10,14

pD

[ns]

T 143e+u4 /25
4250+ 0.0
pl -36.05+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,10,3)

e po

AT rnuiLLrse+ud [ 25
4185+ 0.0
pl -35.15+ 0.00

TP delay

TVC(c, bch) (5,10, 7

= pO

[ns]

=1 nui byye+u4 / 25
4233+ 0.0
pl -35.59 + 0.00

TP delay

TVC(cbch) (5, 10 1

e pO

[ns]

~ 1 nuiz.usye+ud [ 25
4258+ 0.0
pl -35.75+ 0.00

TP delay

TVC(cbch) (5.10,15

e, po

[ns]

T nuiayye+ud [ 25
4230+ 0.0
p1 -35.59 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5,11,0)

[ C =29.78 [ps/ch]

AT 1nuiLurae+u4 /25
.. po 4165+ 0.0
pl -33.58+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (511,4

- i 138e+04 / 25
- pO 42254 0.0
pl -35.39+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 11 8

T z.37e+04 /25
4224+ 0.0
-36.6+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (511, 12

T L sroe+u4 / 25
= po 4237+ 0.0
pl -36.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,11,1)

- PO

p1

AT rnuiL11se+ud /25
4178+ 0.0
-33.46 + 0.00

[ C =29.89 [ps/ch]

1 1
50 100

TP delay

TVC(cbch) (5 11,5

F- pO

[ns]

- 1 20be+u4 | 25
4217+ 0.0
pl -35.88+ 0.00

TP delay

TVC(cbch) (5, 11 9

[ns]

T nug.ys/e+ud [ 25
4243+ 0.0
pl -35.33+ 0.00

TP delay

TVC(cbch) (511,13

= po

[ns]

)

Tonan L use+ud [ 25
4235+ 0.0
pl -36.59 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

2000

1000

TVC(CbCh) (5,11, 2)

- C=30.10 [ps/ch] ™. 1

K™ 1 nuiLuoze+u4 /25
) po 4186+ 0.0
o pl -33.22+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5 11,6

©1nuiL4/8e+04 [ 25
pe, pO 4237+ 0.0
[ pl -36.79+ 0.00

TP delay [ns]

TVC(cbch) (5,11, 10

X~ 1wz 189e+04 [ 25
- po 4249+ 0.0
- pl -34.93 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 14

X~ 1w 1yie+ud /25
- po 4226+ 0.0
L pl -35.32+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,11,3)

AT 1 nuiLuYbe+u4 / 25
== po 4184+ 0.0
pl -33.13+ 0.00
- C=230.18 [ps/ch] . 1
_L L =
50 100
TP delay [ns]

TVC(cbch) (511,7

- pO

-1 nui 394e+04 / 25
4249+ 0.0
-36.4 + 0.0

50 1(;0
TP delay

TVC(cbch) (511,11

e pO

[ns]

<1 nui b3ye+ud / 25
4251+ 0.0
pl -35.68 + 0.00

TP delay

TVC(cbch) (5,11, 15

[ns]

Tinaizo/e+ud [ 25
4224+ 0.0
p1 -35.24 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (5, 12 0)

- o 10ze+04 [ 25
= pO 4182+ 0.0
p1 -34.67+ 0.00

TP delay [ns]

TVC(Cbch) (5, 12 4

i1 3ae+04 /25
.. po 4203+ 0.0
pl -36.79 + 0.00

50 5
TP delay [ns]

TVC(eb.oh)=(5, 12,8

- i sSoe+U4 | 25
- po 4199+ 0.0
p1 -36.08:+ 0.00

TP delay [ns]

TVC(Cbch) (5, 12 12

TrnuiLzole+ud [ 25
po 4214+ 0.0
pl -35.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,12,1)

AT nuiLszye+u4 [ 25
P po 4218+ 0.0
p1 -35.63 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 12 5

T nun139e+u4 / 25
- pO 4206+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(eb.oh)=(5, 12,9

T nug.n4/e+ud [ 25
= po 4213+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(c,b ch) (5,12,13

_ ’r\\uu;[qe+\)4/25
= PO 4196+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (5,12,2)

- C = 29.46 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (5, 12 6

1 nuiL485e+04 / 25
[F-e. pO 4208+ 0.0
N p1 -36.15+ 0.00

X~ 1w 1uze+U4 [ 25
__— po 4192+ 0.0
[ Pl -33.94% 0.00

TP delay [ns]

TVC(cbch) (5, 12 10

- Wi szAe+Ud | 25
pO 4240 0.0
p1 -35.93+ 0.00

TP delay [ns]

TVC(CbCh) (5, 12 14

T s41e+04 /25
pD 4199+ 0.0
pl -35.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,12,3)

X1 12ze+Ud ] 25
== po 4195+ 0.0
p1 -35.48+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 12 7

- b33e+04 / 25
- pO 4220+ 0.0
p1 -36.54 + 0.00

50 160
TP delay [ns]

TVC(Cbch) (5, 12 11

-1 nui g40e+04 / 25
= po 4235+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(cbch) (5,12,15

_ A7 soleUd ] 25
po 4204+ 0.0
-35.26+ 0.00

TP delay [ns]



TVC(CbCh) (5, 13 0)

4000

3000

2000

1000

T rnuizplie+ud /25
- pO 4291+ 0.0
-37.11+ 0.00

1
50 100

TP delay [ns]

TVC(Cbch) (5, 13 4

4000

3000

2000

1000

iU 278e+u4 [ 25
Facse po 4229+ 0.0
pl -36.23 0.00

50 10'0
TP delay [ns]

TVC(cbch) (5, 13 8

4000

3000

2000

1000

- i 203e+U4 1 25
o pD 4268+ 0.0
-34.09+ 0.00

[ C =29.34 [ps/ch] ™,

0

50

1
100

4000

3000

2000

1000

TP delay [ns]

TVC(Cbch) (5, 13 12

pO

p1

1 i 530e+U4 / 25
4234+ 0.0
-35+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,13,1)

A1, 0ae+ud [ 25
k.. po 4282+ 0.0
pL -37£ 0.0

TP delay [ns]

TVC(c,b Ch) (5, 13 5

-1 nuiLadge+ud | 25
Flcee po 4217+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 13

-1 nuig.quze+u4 / 25
- pO 4303+ 0.0
p1 -35.74.+ 0.00

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (5,13,2)

X~ 1wz, (oe+ud [ 25
... po 4298+ 0.0
[ p1 -37.44+ 0.00

3000

TP delay [ns]

TVC(Cbch) (5, 13 6

“rnubz1e+04 [ 25
pO 4247+ 0.0
p1 -37.09+ 0.00

TP delay [ns]

TVC(e,b,ch)=(5, 13, 10

- i gube+U4 | 25
- pO 4316+ 0.0
: p1 -35.14 + 0.00

- C = 28.45 [ps/ch]

TP delay [ns]

0

50

1
100

TVC(c,b ch) (5, 13 13

pO

p1

T inuiLq/0e+ud [ 25
4238+ 0.0
-35.17+ 0.00

TP delay [ns]

4000

3000
2000

1000

TP delay [ns]

TVC(CbCh) (5, 13 14

~ o

- 1 i syde+u4 [ 25
4243+ 0.0
-35.34 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

A~ 1 iz sove+ud | 25
po 4308+ 0.0
pL -36.59+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 13 7

-1 nui 3bYe+u4 / 25
- pO 4259+ 0.0
p1 -37.17+ 0.00

50 100
TP delay [ns]

TVC(Cbch) (5, 13 11

TanaiLy//e+u4 /25
- pO 4318+ 0.0
pl -35.01+ 0.00

[ C =28.56 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (5,13,15

boe+ud / 25
4251+ 0.0
-35.39+ 0.00

A rnan g

- po

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

T zyse+ud /25
P oeea. pO 4239+ 0.0
pl -36.36+ 0.00

TP delay [ns]

TVC(cbch) (5.14,4

- nun339e+04 / 25
pO 4244+ 0.0
pl -36.06+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 8

T rnuigusle+ud / 25
- pO 4204+ 0.0
pl -35.25+ 0.00

TP delay [ns]

TVC(cbch) (514,12

T rnuiLgsve+u4 / 25
- po 4284+ 0.0
pl -37.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,14,1)

AT 1 nun g 1be+ud [ 25
oaee po 4232+ 0.0
pl -35.49 + 0.00

1 1
50 100

TP delay [ns]

TVC(c, bch) (5,145

-1 nui 3ybe+u4 [ 25
- pO 4255+ 0.0
pL -36.83+ 0.00

TP delay [ns]

TVC(c, bch) (5, 14 9

T nay 33ze+04 25
= po 4235+ 0.0
p1 -34.72+ 0.00

TP delay [ns]

TVC(cbch) (514,13

T nui szoe+ud 25
- pO 4270+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000:— __
2000:— '
wof C = 28,87 [psich]™, ]

! % o

4000
3000
2000

1000

TVC(CbCh) (5,14,2)

- C =28.17 [ps/ch

AT 1nugsize+u4 /25
po 4243+ 0.0
pl -35.49 + 0.00

50

1
100

TP delay [ns]

TVC(cbch) (5.14,6

1000

- 1L b04e+04 / 25
po 4249+ 0.0
pl -35.76 + 0.00

10‘0
TP delay [ns]

TVC(cbch) (5, 14 10

T 1nuz4nze+u4 [ 25
po 4237+ 0.0
p1 -34.63+ 0.00

TP delay [ns]

TVC(cbch) (5. 14,14

T rnuiLg4ze+04 [ 25
pD 4259+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(Cbch) (5,14,3)

4000

3000

2000 -

oo C = 28.78 [ps/ch]

A- 1 nun . 15e+ud [ 25
po 4235+ 0.0
pL -34.74 + 0.00

L
50

1
100

TP delay [ns]

TVC(c, bch) (5,14, 7

4000 [,

3000 -

2000 -

wol C = 27.83 [ps/ch .

-1 nur boze+u4 [ 25
pO 4277+ 0.0
pL -35.93+ 0.00

1(;0
TP delay [ns]

TVC(cbch) (5 14,11

4000 [ue.

3000 -

2000 -

lo00r C = 28.92 [ps/ch]

T onan 1 yse+ud [ 25
po 4236+ 0.0
p1 -34.57 + 0.00

50

1
100

TP delay [ns]

TVC(cbch) (514,15

4000 e,

3000

2000

1000

Tonan 1 s3e+ud [ 25
pO 4263+ 0.0
p1 -35.79+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (5, 15 0)

1 nui1sse+ud [ 25

pO 4199+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(cbch) (5.15,4

- 1L zu8e+u4 / 25

k. pO 4194+ 0.0
pl -35.63+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 15 8

1 nuizugle+ud | 25

= pO 4221 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(cbch) (5,15, 12

©1nuiz.444e+04 | 25
pO 4223+ 0.0
pl -34.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

AT 1 nuiLobye+ud [ 25
o po 4184+ 0.0
pl -36.23+ 0.00

TP delay [ns]

TVC(cbch) (5,155

- nui 153e+04 / 25
pO 4204+ 0.0
pL -35.58+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 15

<1 nub.a9ve+ud | 25
- pO 4245+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(cbch) (5.15,13

T inuiza/4e+u4 [ 25
- pO 4224+ 0.0
p1 -36.06 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(CbCh) (5,15,2)

A7 1 nuisyze+u4 /25

TP delay [ns]

TVC(cbch) (5.15,6

Freee po 4209+ 0.0
o pl -36.51+ 0.00

3000

11urL 303e+04 [ 25

- pO 4217+ 0.0
[ pl -36.67 + 0.00

TP delay [ns]

TVC(cbch) (5. 15, 10

1 nuiL gbbe+ud / 25

__— pO 4244+ 0.0
L pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (5.15, 14

-1 nuizyove+ud / 25
- pD 4232+ 0.0
L pl -37.4% 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

AT 1 nuiLobze+ud [ 25

po 4211+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(c, bch) (5,15, 7

=1 nui 4u9e+04 / 25
- pO 4213+ 0.0
pL -35.76+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (5, 15 1

-1 nuisule+ud / 25
= po 4253+ 0.0
pl -36.23+ 0.00

TP delay [ns]

TVC(cbch) (5.15,15

T nuiz zgbe+ud [ 25
- po 4219+ 0.0
p1 -35.22+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

A~ 1 nui 440e+04 | 25
e po 4149+ 0.0
-33.89+ 0.00

[ C =29.51 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (60,4

- rnui281e+04 [ 25
Focee po 4168+ 0.0
pl -33.85+ 0.00

[ C =29.54 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 0,8

-1 nu pzge+u4 [ 25
Foue pD 4175+ 0.0
pl -35.82+ 0.00

1
50 00

TP delay [ns]

TVC(Cbch) (6, O 12

- 17 revud /25
. po 4206+ 0.0
pl -35.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,01

AT 1 nuiLbyle+u4 /25
F.. po 4164+ 0.0
p1 -35.34+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

- 1nuz.ysze+ud [ 25
P pO 4179+ 0.0
p1 -35.34+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 0,9

~ a1 /8e+u5 / 25
E po 4195+ 0.0
p1 -36.43 £ 0.00

TP delay [ns]

TVC(c,b Ch) (6, O 13

E pO
p1

T nuizu4ze+ud [ 25
4201+ 0.0
-35.5+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.78 [psich

1
50 100

TP delay [ns]

TVC(cbch) (60,6

A~ 1 nui 543e+04 / 25
F.... po 4169+ 0.0
[ p1 -34.75+ 0.00

©1nuzy4ge+u4 | 25
4196+ 0.0
-35.61+ 0.00

TP delay [ns]

TVC(eb,ch)=(6, 0, 10

- i, 63e+U4 | 25
3 pO 4214 0.0
[ p1 -35.73+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

= 1 nuizg0se+u4 [ 25
4197+ 0.0
-35.01+ 0.00

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

A~ 1 nuiL, 7obe+ud | 25
Foee po 4184+ 0.0
pL -35.41+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

= 1nuiLgyse+ud [ 25
Fueee po 4202+ 0.0
pl -34.63 % 0.00

[ C =28.88 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (6, O

SRR suue+u4/25
£ pO 4219+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(c,b ch) (6, O 15

L
=]
5}

1 nuiz.u4ye+ud [ 25
4212+ 0.0
-35.79+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0)

A~ 1 nuiL4r0e+04 /25
po 4174+ 0.0
p1 -36.79+ 0.00

TP delay [ns]

TVC(cbch) (6.1,4

- 1nuiz.o4e+04 [ 25
po 4176+ 0.0
pl -34.11 + 0.00

[ C =29.31 [ps/ch] ]
o+ o
TP delay [ns]
TVC(c,b ch) (6 18

- sse+0d | 25
po 4197+ 0.0
p1 -34.47 £ 0.00

TP delay [ns]

TVC(cbch) (61,12

- 1 nuiL yOae+u4 [ 25
po 4197+ 0.0
p1 -35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

AL 5a1e+U4 ] 25
. po 4193+ 0.0
pL -37.29+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

=1 U bobe+u4 / 25
pO 4161% 0.0
p1 -35.14 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 1,9

<1 nuiL UzZoe+us / 25
= po 4229+ 0.0
p1 -34.72+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, l 13

T inai s4ze+ud [ 25
4191+ 0.0
-35.41+ 0.00

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6,1,2)

X~ 1L 573e+04 [ 25
Fuee po 4209+ 0.0
[ p1 -37.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

T gl re+V4 [ 25
- pO 4196+ 0.0
[ pl -35.95+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(6, 1, 10

1000

- 1 i z53e+U4 | 25
- pO 4242+ 0.0
L pl -35.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

S rnui 37e+04 /25
= pD 4190+ 0.0
L p1 -34.97 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

A1 nuiLo8/e+ud [ 25
po 4193+ 0.0
pL -37.29+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

- 1nu54a/e+04 [ 25
fe=s, po 4189+ 0.0
pl -34.65+ 0.00

TP delay [ns]

TVC(c,b ch) (6, l

Tz, zue+u4/25
- pO 4253+ 0.0
p1 -35.41+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 1 15

T inai45e+04 / 25
po 4197+ 0.0
p1 -35.53+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,0

AT inuiLsi/e+ud /25
- po 4198+ 0.0
pl -37.28+ 0.00

TP delay [ns]

TVC(cbch) (62,4

-1z, 0pbe+u4 / 25
e, pO 4213+ 0.0
p1 -35.77:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 2,8

T rnuizus1e+u4 /25
- po 4219+ 0.0
pl -34.89 + 0.00

TP delay [ns]

TVC(cbch) (6,2, 12

T zaze+ud /25
= po 42114 0.0
pl -34.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,1)

T Lyze+ud [ 25
P s pO 4209+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

-1 nu 1z4e+04 [ 25
[P, pO 4219+ 0.0
pL -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,9

T nu.asbe+ud 25
- po 4262+ 0.0
-36.9 + 0.0

TP delay [ns]

TVC(C, bch) (6,213

Tonuazure+ud | 25
- pO 4237+ 0.0
pl -36.48 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,2,2)

- C = 28.34 [ps/ch

A7 1 nuiLgvae+u4 /25
P, po 4208+ 0.0
o pl -35.29+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (62,6

- LB r4e+04 [ 25
- pO 4234+ 0.0
[ pl -35.65+ 0.00

3000

TP delay [ns]

TVC(cbch) (6, 2 10

T a2 3u1e+u4 / 25
__ DO 4262+ 0.0
L pl -35.74 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,2 14

- 1wz 1l re+ud [ 25
- pD 4224+ 0.0
L p1 -35.24 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3)

AT rnuazzzie+ud [ 25
po 4211+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

-1 nuz.0z1e+u4 / 25
- pO 4248+ 0.0
pL -36.08:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 2

T zbze+u4/25
- po 4275+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(C, bch) (6,215

T nuiz.u4se+ud [ 25
= po 4243+ 0.0
p1 -35.65+ 0.00

TP delay [ns]



TVC(cbch)(630) TVC(cbch)(631) TVC(cbch)(632) TVC(cbch)(633)
AT 1L b3ze+u4 [ 25 A~ 1L arze+ud | 25 A™ 11 5oye+u4 [ 25 A~ 1w apze+ud | 25
4000 ;— PO 4196 + 0.0 4000 =— po 4201+ 0.0 4000 _=— po 4214+ 0.0 4000 po 4216+ 0.0
pl -36.58 + 0.00 pl -36.81+ 0.00 r pl -36.63 + 0.00 pl -35.72+ 0.00

3000

- 3000 =1 3000 -1 3000 -1

2000 -1 2000 = 2000 = 2000

1000 - 1000 =1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (63,4 TVC(cbch) (6.3, TVC(cbch) (63,6 TVC(c, bch) (63,

“ g u)/seﬂjd 125 Tnar g ?i)bhe+l)4/25 “narg, l)‘:lle+U4 125 S| l?dbe+04/25
4000 pO 4229+ 0.0 4000 pO 4232+ 0.0 4000 e, pO 4236+ 0.0 4000 fas pO 4247+ 0.0
Pl -37.35: 000 Pl -36.330.00 [ PL_ -36.04% 0.00 Pl 3564+ 000
- F <4

3000~ B 3000 E 3000 b 3000 [ E

2000~ - 2000 ] 2000 . 2000 b

woo- C = 26.77 [ps/c 7 1000 E wool- C = 27.75 [ps/ch ] wooF C = 28.06 [ps/ch ]

o I b I - I = I =
EY 00 50 100 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(6,3,8) TVC(e.ch)=(6,3,9) TVC(eh.ch=(6, 3, 10) TVC(ebeh)=(6, 3, 11)
© i, 1bze+u4 [ 25 T 1nuy.439e+04 [ 25 © a2, yuze+ud | 25 T rui.4z4e+04 1 25
4000 fome, pO 4235+ 0.0 4000 fme pO 4252+ 0.0 4000 fome, DO 4281+ 0.0 4000 fes p0 4261+ 0.0
Pl 3588+ 0.00 Pl -35.35:0.00 L PL_ 3579 0.00 -35.6 0.0

3000

T 3000 - 3000 - 3000

2000 T 2000 - 2000 -1 2000

1000 1000 - 1000 B 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,312 TVC(C, bch) (63,13 TVC(cbch) (6,3 14 TVC(C, bch) (63,15

-1 nuizyose+u4 / 25 T nui sbve+ud [ 25 T rnuiLpye+ud [ 25 Tonan g goe+ud [ 25
4000 [, pO 42355 0.0 4000 o, pO 4223+ 0.0 4000, PD 42255 00 4000 o, pO 4241% 00
pl -35.62+ 0.00 pl -34.97 + 0.00 r pl -36.05+ 0.00 pl -36.28 + 0.00

= 3000

3000 .

1 3000 [~ N 3000

2000 - 2000 - 2000 =1 2000

1000 1 1000

] 1000 - 1000[-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

AT zr1e+04 /25
.. po 4197+ 0.0
p1 -35.9+ 0.0

TP delay [ns]

TVC(cbch) (64,4

Tz ze+u4 [ 25
e, pO 4186+ 0.0
pl -33.97 + 0.00

[ C =29.44 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

1 nuz5ope+u4 [ 25
= po 4189+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (64,12

T4l /e+u4 /25
= po 4221+ 0.0
pl -33.47 + 0.00

[ C =29.88 [ps/ch] . ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

AT 1L zzse+ud [ 25
P po 4176+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

-1 nui 388e+u4 / 25
- pO 4184+ 0.0
p1 -34.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

Tinasyre+ud | 25
= po 4208+ 0.0
pl -35.09 + 0.00

TP delay [ns]

TVC(C, bch) (64,13

T nui sbve+ud / 25
= pO 4219+ 0.0
pl -34.54 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

A7 1nuisuie+u4 /25
_- po 4191+ 0.0
L pl -36.02+ 0.00

3000

TP delay [ns]

TVC(cbch) (64,6

T L4 /e+04 [ 25
4188+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(cbch) (6, 4 10

1000

T zo8e+u4 /25
__ DO 4241+ 0.0
- pl -34.75+ 0.00

TP delay [ns]

TVC(cbch) (64,14

T szoe+u4 [ 25
__ 4228+ 0.0
5 -33.58 + 0.00

FC=20.78 [ps/ch] ™. 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

AT 1 nuiL4uze+ud [ 25
.. po 4206+ 0.0
p1 -35.6 + 0.0

TP delay [ns]

TVC(c,b ch) (6 4,7

=1 nui bbbe+u4 / 25
- pO 4200+ 0.0
p1 -34.77+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

T, /14e+u4/25
= po 4226+ 0.0
pl -33.77 + 0.00

[ C=29.61 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

T inui s1ye+ud [ 25
= 4224+ 0.0
-34.44+ 0.00

[ C =29.03 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,50)

AT 1nuiasre+ud /25
4203+ 0.0
-35.61+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (65,4

- g 310e+u4 / 25
Fome, pO 4198+ 0.0
pl -34.02 0.00

[ C =29.39 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

©1nuiLy43e+u4 / 25
- pO 4216+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (65,12

Tz 1sre+u4 /25
4227+ 0.0
-35.51+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51

R~ Ui 4z0e+ud [ 25
[, po 4214+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (6 55

T U 3b/e+u4 / 25
- 4195+ 0.0
-33.85:+ 0.00

[ C =29.54 [ps/ch] 7]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 59

Tinun.71/e+u4 /25
- DO 4214+ 0.0
pl -35.14 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,13

T yyre+ud [ 25
- pO 4249+ 0.0
pl -35.96 + 0.00

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,52)

1000

TP delay [ns]

TVC(cbch) (6,56

X~ 1w syze+U4 [ 25
I po 4225+ 0.0
3 pl -36.34 + 0.00

3000

- 11U 4ube+u4 [ 25
- pO 4209+ 0.0
L PL_ -33.97%0.00

- C = 29.43 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6, 5 10

© 1 nug,uYoe+u4 / 25
- DO 4242+ 0.0
3 Pl -3555% 0.00

TP delay [ns]

TVC(cbch) (6,5,14

- 112 e+ud [ 25
= PD 4222+ 0.0
F pl -35+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

A7 1 nuiL480e+U4 / 25
= PO 4211+ 0.0
pl -34.71+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

~ a3 ooe+ud [ 25
4211+ 0.0
-34.9+ 0.0

TP delay [ns]

TVC(c,b ch) (6, 5

AALVS z/::e+u4/25
- pO 4248+ 0.0
pl -35.43+ 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

T ysse+u4 [ 25
- pO 42351 0.0
pl -35.92 + 0.00

TP delay [ns]



TVC(c,b Ch) (6,6,0) TVC(c,b Ch) (6,6,1) TVC(c,b Ch) (6,6,2) TVC(c,b Ch) (6,6,3)
K- 1 Suoe 04 ] 25 X 1L duse+ud | 25 K- 1 duse 04 ] 25 KL d2se+Ud ] 25
4000, po 4196+ 0.0 4000, po 4207+ 0.0 4000, po 4202+ 0.0 4000 =, po 4214% 0.0
Pl -35.27+0.00 pl 3569+ 0.00 [ Pl -35.32% 0.00 Pl -35.27:0.00
3000 - 3000 - 3000 - 3000 B
2000 g 2000 E 2000 -

-1 2000

1 ool C = 28.31 [ps/ch

1000 ] . wol C = 28.35 [ps/ch ]
1 1 1 1 -] 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebh)=(6,6,4) TVC(eb.ch)=(6,6,5) TVC(ebeh)=(6,6,6) TVC(eb.ch)=(6,6,7)
- i bybe+u4 [ 25 S nun 1 /4e+04 [ 25 -1 nuibBle+ud / 25 -1 nui 814e+04 / 25
4000, pO 4182+ 0.0 4000, pO 4207+ 0.0 4000 4195+ 0.0 4000 o, pO 4207+ 0.0
Pl -34.89 0.00 Pl -36.15% 0.00 3 -35.31 0.00 Pl -35.74%0.00
[ - ]
3000~ - 3000 - 3000 ] 3000 —
2000 g 2000 ] 2000f ] 2000 ]
1000F C ] 1000 - 1000 _ 1000F C E
1 1 - 1 1 - 1 -
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh)=(6,6,8) TVC(ebeh)=(6,6,9) TVC(eb,ch)=(6, 6, 10) TVC(eb,oh)=(6,6, 11)
~ 1 nuiLyple+ud / 25 -1 Zoge+us / 25 T nug.413e+04 /25 T r41e+04 /25
4000 pO 4217+ 0.0 4000 e, pO 4248+ 0.0 4000 [, DO 4259+ 0.0 4000 [ p0 4256+ 0.0
Pl 3549 0.00 Pl 3474000 [ PL_ 3579 0.00 pl -35.01% 0.00
3000 g 3000 . aooof ] 3000 E
2000 B 2000 |- - 2000 3 2000 B

1000 1000

1000

100 C = 28.78 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(661 ) TVC(cbch)(6613) TVC(Cbch)(661 ) TVC(cbch)(6615)
Tz, 104e+04 / 25 T ro3e+u4 [ 25 T L gbze+u4 [ 25 T g3ze+u4 [ 25
4000 pO 4234+ 0.0 4000 pO 4226+ 0.0 4000 PD 4223+ 0.0 4000 4237+ 0.0
pl -35.64 + 0.00 pl -35.49+ 0.00 r pl -35.34+ 0.00 -36.01+ 0.00

3000 -1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 [~

-1 1000 - 1000

PR PR S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (6,7,0) TVC(c,b Ch) (6, 7 1) TVC(c,b Ch) (6, 7 2) TVC(c,b Ch) (6,7,3)
K 1 S10e+04 1 25 v e+ 25 i ooerud 25 X 1L dsoe+ud | 25
40008 po 4187+ 0.0 400, pO 4210+ 0.0 a0, pO 4216+ 0.0 4000 o, po 4216+ 0.0
pL -35.3% 0.0 pl_ -36.53: 0.00 [ pl -36.1% 0.0 pl  -35.36% 0.00

- 3000

3000 = 3000 =1 3000 - -1

2000 — 2000 7] 2000 ] 2000 [

1000 1 ] ] ol ¢ = 28.28 [ps/ch 1
| | | -
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (6.7.4) TVC(cbch) (6.7,5) TVC(cbch) (6.7,6) TVC(cbch) (6.7,7)
- 1 i Boye+ud / 25 ~nui by re+u4 [ 25 =i, 7gye+ud / 25 - nui /yle+u4 / 25
4000 pO 4199+ 0.0 40008, DU 4210+ 0.0 4000 fo pO 4218+ 0.0 4000 pO 4217+ 0.0
pl -34.59 + 0.00 pL -35.17 + 0.00 3 -34.9+ 0.0 pL -34.38 + 0.00
3000~ - 3000 E 3000 — 3000 -
2000 - E 2000 B 2000 — 2000 [ -
10000 ] 1000 E 1000 ] woor C =29.08 [ps/ch] ]
1 1 - 1 1 - £ 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (6,7,8) TVC(c,b ch) (6.7,9) TVC(c,b, ch) (6,7,10) TVC(c,b ch) (6,7,11)
T nug, 1z4e+04 / 25 - i 1use+us / 25 © 1 UL yube+u4 / 25 ~ 1z 149e+04 / 25
4000 e pO 4208+ 0.0 4000 pO 4226+ 00 4000 DO 4251% 00 4000, p0 4261+ 0.0
pl -35.81+ 0.00 pL -36.27+ 0.00 [ pl -36.93+ 0.00 pL -37.33+ 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

0

0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(671 ) TVC(cbch)(6713) TVC(cbch)(67l ) TVC(cbch)(6715)
T ze+V4/25 T 1y/e+u4 [ 25 T il yloe+ud / 25 -1 nuiL yuse+u4 [ 25
4000 fm, pO 4254+ 0.0 4000 [, pO 4248+ 0.0 4000 fm, PD 4252+ 0.0 4000 [, pO 4262+ 0.0
pl -36.24 + 0.00 pl -37.01+ 0.00 r pl -36.33+ 0.00 pl -36.56 + 0.00

3000 -1 3000 - 3000 -1 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0)

A1 g,

1ove+ud [ 25
4182+ 0.0
-34.75+ 0.00

TP delay [ns]

TVC(cbch) (68,4

. pO

pl

T i 134e+04 /25
4267+ 0.0
-38.7+ 0.0

C=25.84 [ps/c

-
] =
50 00

TP delay [ns]

TVC(cbch) (6,8,8

X1

e, po
p1

Ll.ze+u4 /25
4211+ 0.0
-34.92+ 0.00

TP delay [ns]

TVC(cbch) (6,8, 12

A1,

. po
p1

3Llze+u4 |25
4221+ 0.0
-35.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81

A1z 4ure+U4 ] 25

F. po 4180+ 0.0
pL -34.6:+ 0.0

L 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

L pO

1 1uZ.049e+u4 | 25

pl -37.52+ 0.00

4251+ 0.0

TP delay [ns]

TVC(c,b ch) (6 8,9

-1t Zo1e+04 1 25
e, pO 4220+ 0.0
pL -34.44 + 0.00

[ C =29.04 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 8 13

T inai1s3e+ud / 25
= pO 4233+ 0.0
pl -35.94+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,8,2)

A~ 1 nuizuose+ud [ 25

4204+ 0.0
-34.88+ 0.00

F w0
L pl
L C = 28.67 [ps/ch 1

+ s

TP delay [ns]
TVC(cbch) (6,8,6)
-1 nur soze+U4 [ 25

pe- pO 4262:‘
N pl -38.02 + 0.00
- C =26.30 [ps/c .

< o

TP delay [ns]

TVC(eb,ch)=(6, 8, 10

- b

T rnuiz4r4e+04 /25
4253+ 0.0
-35.13+ 0.00

pl

TP delay [ns]

TVC(cbch) (6,814

- i s9re+u4 [ 25
4221% 0.0
-34.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3)

po
pL

A~ nuiz32ze+04 [ 25
4207+ 0.0
-35.59+ 0.00

=

100

TP delay [ns]

TVC(c,b ch) (6 8,7

- pO
pl

S nunzZ rbe+ud [ 25
4282+ 0.0
-37.76 + 0.00

100

TP delay [ns]

TVC(c,b ch) (6, 8

= pO

T bd/e+U4/25
4259+ 0.0
-34.89 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 8 15

pO
p1

- i $7ve+ud [ 25
4230+ 0.0
-35+ 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6, 9 0)

"aase PO
pl

rnun e+l [ 25
4213+ 0.0
-36.49 + 0.00

TP delay [ns]

TVC(cbch) (69,4

= o,

pO
pl

189e+U4 | 25
4237+ 0.0
-35.07 + 0.00

% o
TP delay [ns]
TVC(cbch) (6 9,8
== pD

- rnu5ze+04 [ 25
4220+ 0.0
-34.95+ 0.00

TP delay [ns]

TVC(cbch) (6,9,12

po
p1

- 1 i soae+u4 [ 25
4237+ 0.0
-33.99 + 0.00

I C =29.42 [ps/ch]

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1)

k. po

p1

A1 L Saze+Ud ] 25
4219+ 0.0
-35.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

pO
pl

~nuibrle+u4 / 25
4250+ 0.0
-35.71+ 0.00

.

TP delay [ns]

TVC(c,b ch) (6 9,9

foee pO

pl

- 1 nu Qyye+u4 [ 25
4233+ 0.0
-35.79+ 0.00

TP delay [ns]

TVC(c,b Ch) (6,9,13

X rnan g

e, po
p1

24e+04 | 25
4234+ 0.0
-35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000
3000

2000

1000

1000

TVC(cbch) (6,9,2)

po

pl

X~ 1L by4e+U4 [ 25
4237+ 0.0
-37.53+ 0.00

50 100
TP delay [ns]
TVC(cbch) (6 9,6)
TN/ r3e+04 [ 25
e, po 4259+ 0.0
[ p1 -35.63::‘
- C = 28.07 [ps/ch ]
1 L -
50 100
TP delay [ns]

TVC(eb,oh)=(6, 9, 10

F= "0

- 1 nuis.udbe+Ud | 25
4260+ 0.0
p1 -36.04 + 0.00

TP delay

TVC(cbch) (6,9,14

[ns]

T4z ie+u4 /25
4248+ 0.0
-36.5+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3)

A,

- po
pL

(19e+U4 /25
4241+ 0.0
-37.02+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

RIS

- pO
pl

148e+04 | 25
4275+ 0.0
-36.63+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 9

= pO

AL 5Ude+l}4/25
4271+ 0.0
-36.12+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (6, 9 15

- pO

T nuig3ae+u4 /25
4258+ 0.0
-36.46 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

1 nuiLbuLe+ud / 25

=, pO 4204+ 0.0
pl -35.58+ 0.00

TP delay [ns]

TVC(cbch) (6.10,4

© i, r9se+u4 [ 25
Foe pO 4214+ 0.0
pl -36.68:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

T nuiLgy1e+u4 / 25
= po 4218+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(cbch) (6.10,12)

Tz 134e+04 / 25
= po 4227+ 0.0
pl -35.28+ 0.00

TP delay [ns]

TVC(chh) (6,10,1)

4000 7 po

A7 1 nuiLovoe+ud [ 25
4207+ 0.0
pl -36.03+ 0.00

3000

2000

1000

TP delay

TVC(c, bch) (6,10,5

4000 [ pO

pl

[ns]

-1 nui /34e+04 [ 25
4218+ 0.0
-36.14 + 0.00

3000 -

2000

1000 [~ C

50 1(;0
TP delay

TVC(c,b ch) (6, 10

4000 [

[ns]

~ i nuiLub/e+us / 25
4221+ 0.0
pl -35.83 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (610,13

4000 [,

[ns]

~ 1 nuiLyuve+ud / 25
4228+ 0.0
-35.31+ 0.00

3000

2000

1000

PR BRSNS |
50 100

TP delay

[ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

TP delay [ns]

TVC(cbch) (6.10,6

1000

A7 1 nuiozse+u4 /25
_E po 4218+ 0.0
o pl -36.21+ 0.00

3000

Srnuan /1e+u4 [ 25
- pO 4226+ 0.0
[ pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (6, 10 10

1000

0

T 3.44e+04 /25
- po 4248+ 0.0
- pl -36.87 + 0.00

TP delay [ns]

TVC(cbch) (6,10, 14

1 nuizuyde+ud | 25
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50 10‘0
TP delay [ns]

TVC(ebeh)=(7, 1, 10

4000

3000

2000

1000

T b8 /e+u4 [ 25
™ DO 4246+ 0.0
L pl -33.24+ 0.00

- ¢ =30.09 [ps/ch] ™.

0

1
50 100

TP delay [ns]

TVC(cbch) (7.1,14

4000

3000
2000

1000

-y 59 e+04 ] 25
- PD 4226+ 0.0
F pl -35.74+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,3

AT 1nuz,11e+U4 /25
[roee, PO 4220+ 0.0
p1 -36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (7 1,7

-1 U Uobe+u4 / 25
- PO 4235+ 0.0
pL -35.83+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 1

[ C =29.03 [ps/ch]

1)
T ruy.bare+us / 25
™ p0 4250+ 0.0
pL -34.45+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (71,15

T nu,/ se+U5 / 25
4218+ 0.0
-35.01+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

T Lsoe+u5 /25
pO 4200+ 0.0
p1 -36.06 + 0.00

TP delay [ns]

TVC(cbch) (72,4

T rug633e+u4 / 25
4186+ 0.0
-35.2+ 0.0

50 10'0
TP delay [ns]

TVC(ebeh)=(7,2,8

~1ug pode+Us / 25
pO 4238+ 0.0
p1 -37.46 + 0.00

TP delay [ns]

TVC(cbch) (7,212

~ 1L ysoe+u4 / 25
pO 4213+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.2,1

AT 1 nuiLb3se+u4 [ 25
F.. po 4189+ 0.0
p1 -36.07 + 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

= 1nu 3y /se+ud [ 25
= po 4205+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVCebeh)=(7,2,9

~ 1 nu.yzze+ud [ 25
- pO 4234+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 2 13

T nuiL B3ve+U5 / 25
- pO 4214+ 0.0
p1 -35.79+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7.2,2)

TP delay [ns]

TVC(cbch) (7,2,6

T Lyie+u5/25
Fouae, po 4202+ 0.0
L pl -36.52+ 0.00

3000

T i 7zoe+u4 [ 25
o pO 4187+ 0.0
[ p1 -34.46 + 0.00

TP delay [ns]

TVC(c,b, ch) (7, 2 10

1000

0

-1 1 5a4e+04 | 25
= pO 4250+ 0.0
[ pl -36.65+ 0.00

TP delay [ns]

TVC(cbch) (7,214

- 1 nuizusYe+u4 [ 25
5 pD 4224+ 0.0
L p1 -35.44 £ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (72,3

AT rnuiLzi/e+u5/ 25
F.... po 4207 0.0
p1 -35.95+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

-1 nuz.0ule+ud / 25
4209+ 0.0
-35.9+ 0.0

50 160
TP delay [ns]

TVC(c,b ch) (7,2,

T zb5e+u5/25
= po 4252+ 0.0
p1 -37.42+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2 15

T naizyze+U6 / 25
- po 4215+ 0.0
p1 -35.35+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0

A~ nun, zsae+04 | 25
e po 4181% 0.0
p1 -35.87 + 0.00

TP delay [ns]

TVC(cbch) (7.3,4

T i 7zoe+u4 | 25
4176+ 0.0
-35.51+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (7 3,8

- iy Ssae+ud [ 25
pD 4194+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(cbch) (7,312

- 1 nuig.vUae+u4 [ 25
4211+ 0.0
-36.31+ 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (73,1

X1 Lo re+U5 | 25
e po 4198+ 0.0
pL -37.18 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

- 632e+04 25
= DU 4189+ 0.0
pl -36.29+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

~ 1 nuiLp1be+us / 25
- pO 4214+ 0.0
p1 -36.67 £ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 3 13

~ 1 nu.usve+ud / 25
— 4206+ 0.0
-36.21+ 0.00

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,3,2)

X~ 1 iz zobe+U4 | 25
F.... po 4198+ 0.0
[ p1 -36.17 £ 0.00

3000

TP delay [ns]

TVC(cbch) (73,6

-1y 3ose+u4 [ 25
4193+ 0.0
-35.81+ 0.00

TP delay [ns]

TVC(eb,oh)=(7, 3, 10

1000

0

1 nuiLybge+Us / 25
po 4233+ 0.0
p1 -37.03+ 0.00

TP delay [ns]

TVC(cbch) (7.3 14

T i 1use+U5 / 25
pD 4212+ 0.0
pl -36.02 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (73,3

A1 d1aevud ] 25
E po 4197+ 0.0
pL -36.34 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

= rnui Ty se+us / 25
= po 4191+ 0.0
pl -35.24 % 0.00

TP delay [ns]

TVC(c,b ch) (7, 3

EEALEVX sze+U5/25
= po 4232+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 3 15

T inun,3r3e+U5/ 25
4212+ 0.0
-35.71+ 0.00

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

TVC(cbch) (7,4,0)

X~ 1w usie+u4 /25
4189+ 0.0
p1 -35.83 + 0.00

TP delay

TVC(cbch) (7 4,4

[ns]

T g y3sze+ud [ 25
4212+ 0.0
-35.66 + 0.00

e pO
pL
3000~ ]
2000~ ]
10001~ C ]
1 1 "
50 100
TP delay [ns]
TVC(cbch) (7,4.8)
~ 1 nuiL4yse+U5 / 25
4000 pO 4215+ 0.0
p1 -34.88:+ 0.00
3000 ]
2000 = 7
1000 7]
1 1 -
b 50 100
TP delay [ns]
TVC(cbch) (7,4,12)
- ~ 1 nuiLpuoe+U5 / 25
4000 [ po 4220+ 0.0
pl -36.05+ 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (7,4,1)

F po

p1

AT nuig,szoe+ud [ 25
4182+ 0.0
-35.06 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 4,5

=1 nub Yoye+u4 / 25
4210+ 0.0
-35.2+ 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (7.4,9

~ 1 nuiz.4p4e+U5 / 25
4236+ 0.0
-35.05+ 0.00

TP delay [ns]

TVC(c,b Ch) (7,4,13

SRRl

(14e+U5 /25
4219+ 0.0
-35.26 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

TVC(cbch) (7.4,2)

P, P°

Sinae Goerud |25
4193+ 0.0
p1 -35.84 + 0.00

TP delay

TVC(Cbch) (7 4,6

1000

pO
p1

[ns]

©1nu,2yge+u4 | 25
4224+ 0.0
-36.63 + 0.00

TP delay

TVC(ebeh)=(7, 4,10

[ns]

-1 nug y3se+ud [ 25
4246+ 0.0
-34.7+ 0.0

" pO
L pl
3000:— 7]
2000:— _:
wol C = 28.82 [ps/ch]™, 1
) 4 o
TP delay [ns]

4000

3000
2000

1000

TVC(cbch) (7.4,14

S rnugzze+04 [ 25
4212+ 0.0
pl -35.69 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,3)

e, po

A~ 1 nurs.bUbe+U4 | 25
4198+ 0.0
-35.55+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (7 4,7

pO
pl

=1 U DyBe+u4 / 25
4233+ 0.0
-36.83+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (7,4,

= pO

1)
T nuis11e+u6 / 25
4237+ 0.0
-34.87 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (7,4,15

SRR

142e+U5/ 25
4229+ 0.0
-36.89 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,0)

T gsze+ud /25
4185+ 0.0
-34.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7.5,4

T rnuzza1e+04 / 25
e, pO 4189+ 0.0
p1 -34.49+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 5,8

T a3y e+u4 [ 25
4206+ 0.0
-36.4 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7,5,12

T Ly e+u4 [ 25
pO 4236+ 0.0
pl -36.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51

AT 1 nun suYe+u4 [ 25
Frase po 4194+ 0.0
pl -35.22+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 55

=1 i Yyge+u4 / 25
e, pO 4209+ 0.0
pL -35.52.+ 0.00

TP delay [ns]

TVC(c,b ch) (7 59

Tinugz/1e+U5/ 25
4223+ 0.0
-36.8 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (7.5,13

T inuizaroe+ud [ 25
= pO 4237+ 0.0
pl -36.59 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (7,5,2)

X~ 1 g ss4e+04 [ 25
P, po 4212+ 0.0
o pl -35.79.+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,56

- C = 28.60 [ps/ch

- rnuz, yge+ud | 25
pO 4206+ 0.0
pl -34.97 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7, 5 10

1000

0

T e, 12 /e+04 [ 25
. po 4238+ 0.0
L p1 -36.48 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,5,14

~1nuizu44e+04 [ 25
= pD 4241+ 0.0
L pl -37.07 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,3

A~ 1 nuiLus4e+Us / 25
Foese po 4213+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (7 57

- U Y1be+us / 25
- pO 4209+ 0.0
pL -35.17+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 5

T, 145e+u4/25
= po 4238+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(C, bch) (7.5,15

T nan 1 .uve+us /25
e pO 4222+ 0.0
pl -35.78 + 0.00

TP delay [ns]



TVC(cbch) (7,6,0

4000

3000

2000

1000

A~ 1 nuig yzse+u4 [ 25
o po 4226+ 0.0
p1 -36.63+ 0.00

TP delay [ns]

TVC(cbch) (7.6,4

4000

- i 3r8e+u4 [ 25
Faase po 4208+ 0.0
pl -35.36+ 0.00

3000 [~ 7
2000 - ]
10001~ C ]
1 1 "
50 100
TP delay [ns]
TVC(cbch) (7.6,8)
~1nuiL zose+u5 / 25
4000 [ pD 4188+ 0.0
p1 -33.94 + 0.00
3000 - 7
2000 - 7
wor C =29.46 [ps/chl™, 7
. -

0

1
50 00

TP delay [ns]

TVC(Cbch) (7, 6 12

4000

3000

2000

1000

T 1oe+U5/25
= po 4196+ 0.0
pl -32.28+ 0.00

[ C =30.98 [ps/ch] " ]

. MR |
= 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.6,1)

T rse+ud [ 25
k.. pO 4227+ 0.0
p1 -36.31+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

=1 nug 03 7e+04 / 25
. po 4225+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,9

T nuiz.zzoe+u5 [ 25
4225+ 0.0
-35.1+ 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (7, 6 13

T nuuzse+ud / 25
= pO 4232+ 0.0
p1 -35.26 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000

2000

TVC(cbch) (7,6,2)

X~ 1y zz(e+04 125
P po 4223+ 0.0
r p1 -35.84 + 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

- 11Uy 345e+04 [ 25
- pO 4239+ 0.0
[ pl -36.19+ 0.00

TP delay [ns]

TVC(eb,oh)=(7, 6, 10

- 1 1. Uze+U4 | 25
- pO 4246+ 0.0
L pl -35.74+ 0.00

TP delay [ns]

TVC(cbch) (7.6,14

1000

T 1nuig.p4se+u4 | 25
4248+ 0.0
-36.51+ 0.00

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,3

AL r1/e+U5/ 25
— po 4234+ 0.0
p1 -36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

-1 U bl3e+us / 25
- pO 42441 0.0
p1 -36.45+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 6

S g z::e+u4/25
= po 4236+ 0.0
p1 -34.98 £ 0.00

TP delay [ns]

TVC(c,b ch) (7, 6 15

T nuis.u3ye+Us / 25
= pO 4233+ 0.0
p1 -35.45 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0

A~ 1 nuio1ze+u4 [ 25
P po 4205+ 0.0
p1 -34.75+ 0.00

TP delay [ns]

TVC(cbch) (77,4

- Ui S59e+04 [ 25
F po 4201+ 0.0
pl -34.76 + 0.00

50 10'0
TP delay [ns]

TVC(ebeh)=(7,7,8

- s 5rve+ud [ 25
= po 4215+ 0.0
p1 -35.18+ 0.00

TP delay [ns]

TVC(cbch) (7,7,12

-1 nus, 1 7se+u4 [ 25
4220+ 0.0
-37.31+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,1

A1 L Baae+U4 | 25
k.. po 4218+ 0.0
pL -35.36+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 7,5

“ U4/ e+u4 [ 25
E pO 4214+ 0.0
p1 -35.51% 0.00

50 150
TP delay [ns]

TVCEebeh)=(7,7, 9

T inu13/e+u4 /25
= pO 4230+ 0.0
p1 -35.91+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 7 13

T nur.ulbe+ud / 25
- pO 4223+ 0.0
p1 -37.63+ 0.00

50 100

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,7,2)

- C = 28.56 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

X~ 1L 3o/e+04 [ 25
P po 4216+ 0.0
[ p1 -35.01+ 0.00

©nu, 7ybe+u4 / 25
pO 4233+ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

- 1 Ui bbae+U5 / 25
- pO 4241% 0.0
[ p1 -36.32:+ 0.00

TP delay [ns]

TVC(cbch) (7,7,14

-1 nuig 5lve+u4 [ 25
- pD 4217+ 0.0
L p1 -36.62 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,3

K™ rnuaiLuize+us/ 25
F.... po 4218+ 0.0
p1 -35.22+ 0.00

[ C =28.39 [ps/ch

L
50 100

TP delay [ns]

TVC(cbch) (7.7,7

~ 1 nug,144e+04 / 25
= po 4230+ 0.0
p1 -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (7,7,

1)
T nuiLl/se+u6 / 25
4237+ 0.0
-35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (7, 7 15

1 nur.yuse+us / 25
= pO 4209+ 0.0
p1 -36.9+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,0)

K™ zi4e+05/25
4166+ 0.0
-36.01+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,84

- i gh3e+ud / 25
4178+ 0.0
-35.6+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (7 8,8

T o r3e+u4 /25
po 4196+ 0.0
-35.05+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,812

T, ryze+u4 | 25
pO 4204+ 0.0
pl -37.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.8,1

AT 1L Byoe+ud [ 25
s po 4175+ 0.0
pl -35.48 + 0.00

TP delay [ns]

TVC(c,b ch) (7 8,5

- I 585e+U4 | 25
o, DU 4186+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(c,b ch) (7 8,9

T inuz.fu/e+u5 /25
po 4220+ 0.0
p1 -35.82 + 0.00

TP delay [ns]

TVC(C, bch) (7.8,13

T nun.usye+ud / 25
3 pO 4214+ 0.0
pl -37.98 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000
3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (7,8,2)

TP delay [ns]

TVC(cbch) (78,6

AT 1nun 1s1e+04 /25
e po 4178+ 0.0
L pl -35.34+ 0.00

3000

-1z 3o8e+u4 [ 25
Frcee po 4192+ 0.0
[ pl -36.02+ 0.00

TP delay [ns]

TVC(cbch) (7, 8 10

© 1z 132e+05 / 25
4196+ 0.0
-33.4+ 0.0

- C =29.94 [psich] ™. 1

L 1
0 50 100

TP delay [ns]

TVC(cbch) (7.8 14

T 1nug, ruse+ud / 25
= pD 4226+ 0.0
[ p1 -38.19+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.8,3

AT 1 nuy.yoye+ud [ 25
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